(COMPUTER BASED TEST)

CHILD DEVELOPMENT
(GYHmg euenjgsl)

Match the following :

QuTpSEIS :
Stage Characteristics
Hlencoger LIGRTL| ST

(a) Physical 1. Conscience of right and wrong
2 L6 cueni&s) wensTA - &, sauanp Lfpg CameTEnged

(b) Motor 2. Bodily changes
Qwss eueriFs 2 L6 LOMDDBIGET

(c) Moral 3. Ability of get along with others
STSs cuenT&s) DHDETEEHL_6T LIPELD Spe

(d) Social 4. Use of hand, leg and fingers
FPS GUETTFS s, &Ted HMID edlFed LweTLIT(H

@ @O © @
A 1 2 3
B 1 3 2

2 4 1
D) 4 3 2
(E) Answer not known

aflenL Qs flweiidvene

= W

includes growth of body and brain and change or stability in
sensory capacities, motor skills and health.

ereiTgl o L pmib epenaruilen euemids wHMID o ewrss Fpensear, Quisss
Hpenser wHmb CITEHLD YSuaupdle wIHOL Siwag vdrssamw pdueban
2_eemL_&&lwig). ‘

(A) Cognitive development (B) Social development
SifleurhHmed euarigs FPS UETTFE]

(C) Psycho social development M Physical development
2 emeflwidd Feps eueniFs 2.1 & eueitEsl

(E) Answer not known
aflenL Qg flweidenew
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3. Which of the following is not a domain or area of development?
Qereumeuataupiled argl e @LmQwen (1) cueniédlésmar LGS de?

(A) Physical (B) Social
2. L6 FEPSLD

(C) Emotional w Behavioural
2 _awTITeY BLSHMS

(E) Answer not known
elen. Qzfwelldena

4. The first two weeks of the life of a child is known as the period of

R GRbosuiar (psod Qran® ey aumpéams L(HeuLD eTarm PlwiLGEDG.
(A) Infancy | Neonate
GpefiLs LESeTD GLHensL
(C) Babyhood (D) Toy age
GLbMmSL QumbenLd euwIg
(E) Answer not known
aflen QgMweldvena
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One of the following statements is true about hereditary factors influencing

development?

aueTiESluled QedounsE Qeaqusgd upbumy straflsear updl Gereumhd smpmsefley 6rg
o _GTEnLD?

(A) Enrichment or impoverishment of the environment would produce

B)

D)

(E)

differences in his abilities

FHNFGYOD QFPMLUURSSHZD ALDF G@DPeylUbhESHSH eurs Sneasetie
CaupuT(HEMET 2_(HEUMSGLD

In unsupportive and stressful home environment children may develop
as maladjusted persons

%sTuHD LHYD W HWSHD Hopss SLEE GRdld GbmssdT seupTan
BUTSETTS 2 (IHoUT&HETLD

Genetics determine eye colour, hair and skin pigmentation

wrwe s Hpb, Ay wHHID Camd HP L fweipap SToraisfng
Non-normative influences include the unusual life events in an
individual’s life

Qpdlapupn srésmsaid om saipuflear oFrTgrram aMpsms HlHLP6SHEHLD
DL MIGLD

Answer not known

eflenL Qs flweilcrene

It occurs when there is orderly and progressive changes in a human being due
to Maturation and experience
WPETES wHMID UGS STTETLONS (W walgeafld gHuBid wrHpLd

A)
©
(E)

Growth Development
WwrHOHLD cuaTi&S

Physical changes (D) Mental changes

2 L&) LOMHDEISET LETFET6lled MDD BISHET

Answer not known
aflen Qg flwellvena
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7. Which of the following is NOT a personal factor affecting the social
development of the child?
Wereumeuameupdled GLobangudlen Feps cueridflenwits UTE&@D seNiiLl L srreantl e

(A) Health 4 Peer group
< Crr&Slwid wewTUITgeT (W) G
(C) Emotions (D) Intelligence
o ewIn&Elger HiaTenTdley
(E) Answer not known
eflenL QgRlwelerena
8. The quality of schooling received by a child is an example for
—— factor. ) ] ]
RMH GLRHEMEEE S &ss saigl sroner Udteals saedl eremg) STrentlée,
THSFISSTLL NS ellerhiGEng.

(A) The quality of physical environment

Geuefliym @pblenaouldien sy
id The quality of facilities provided by the social and cultural forces

FOPS LHMID SOTEFFTT FaMISETTED HeML_EEE Falg s STLOMEGT UFEISET

(C) Accident and incidents of life
cumpsensuflen ellug 8556 HMID Hlapeser

(D) Intelligence
BicmeRTbloy

(E) Answer not known
aflenL Gz flwelcenan

DPCD/2022 6



10.

Factors which affect a child’s physical growth and development are
Gbasuder 2 L6 cueTi&sl Hmb cueTidslaw unSl&EELD sryeaeilser

(A)
B
©)

.8

(E)

Heredity

UgbUenTy

Environment

SEDDS P

Neither heredity nor environment
UFLOUIGHT D00 &IDMIELpeD

Both heredity nor environment
LU HMID GHDHNIGpe @rar(hiGw
Answer not known

aflenL Qgilwellebena

Assertion [A] :  Child growth follows an orderly sequence.
sapn [A] D GYhos eueniEs e euhister auflegmwit GamLDnHDG.

Reason [R] : A Child learns to stand before he walks and he passes

through the babble stage of syllables in language before he
speaks clearly.

smyend [R] R GRH®s BLUUSHEG par HDas spms Gsmerdlmg. Cuogib

(A)

©

D)

(E)

Qgafleurs CuseugnE ey Qwmfluliesr o arer He eT(SSIEHET DG
arismsuier smssar (babble stage of syllables) s sms s
Qg

[A] is true but [R] is false

[A] &M spemed [R] seumy

Both [A] and [R] are true; and [R] is the correct explanation of [A]

[A] wpmbd [R] @ran@b M. [R] eremug [A]en eftwren eflengaid

[A] 1s false, [R] is true

[A] seum [R] &M

Both [A] and [R] are true, but [R] is not the correct explanation of [A] is
correct

[A] wpmibd [R] @raw@®b sf. pemmad [R] eremug [A] @en sflwnen elardsd  @)dana
Answer not known

alenL Qzflweiidvenay

7 DPCD/2022
[Turn over



11. The following principle of development is incorrect

Wemeu(pLd eueri&sls QamaTanssatleh 618 SeuDTag)?

(A) Development is continuous
cuemi&sl QFTL &Sl wimen eemm@LDd

(B) The sequence of development is same in all children
cuerr&Slullen eufleng erebevm Ghengseflayb Gy wrflwms @ mseELD

6 Development is the result of coincidences

auemi&s) HHQFwwSafen eflenerey

(D) There are individual differences in development
auemi&ESlufler sefltiuc 1 Ceumun(Hser o ereme

(E) Answer not known
eflenL Qgflwelerene

12. A good healthy physique develops a healthy mind, an emotionally stable and

socially amicable personality. Is an example for principle of

B Crrsluiwner 2 e, Crmsfwinner warb, warkleipdsl HlaneliLs seren WwHIHILD

FWPITWSEHDE 28565 EHOLL cuaTEEDg. @S

THSFHEET_LTS elleTriGH DS
(A) Predictability (B) Integration
wEILS R(EHlamentiLé
( Interrelation (D) Uniformity
QRETMIL 6T gaTmTeT QT Eymen

(E) Answer not known
sflenL Qg fwelerena

13.  Which of the following is a phylogenetic function?
Geeu(meuareuddled erg) eniGamblggaiiyd Glaweumh?

(A) Swimming (B) Sewing
Bésed g ling) : W6 QFuIcug,
(C) Cycling Crawling
&6 el (Heug) SeUpBHE CFw6eug)

(E) Answer not known
aflenL Qgflwelcrene
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14.

15.

16.

Who coined the term ‘Zone of proximal developments’?
“Qrmhdu eueridsufe eRTL LD ETaD UGS 2 (heUMTGEWIGUT WiTi?

(A) Erik Erikson (B) Ivan Pavlov
eriflg erflgaenm @ eumerr meuGeomey
(C) Albert Bandura « Lev Semenovich Vygotsky
QU urar(hym Qe QaCwGammalls eneuCam_svdl
(E) Answer not known
aflenL Gz flwedicvena

“Development 1s a ‘progressive’ series of orderly coherent changes leading
towards the goal of maturity.” This definition was given by .

caueni&fl  ererg  pdliEfluden @Qavsans Crprsdl O, @pRBsTar, eddlamaeurer
wrpprsafler wpHCurssmer QT - wirt sdlwg)

6 Hurlock (B) Erickson
QDTS erfl&gen
(C) Freud (D) Allport
agma <peoGumr
(E) Answer not known
eflen Ggflweidena

As a child grows in age, the size of his fingers increases in length and in
thickness. This is considered as

R GRbws auwg THurs cueny, ugear efyosaian Berapd, sigwand Hsfsfng. Qg

eren S HluILBEGI.
(A) Development (B) Maturation
perCapmLd WpIirEs
Growth (D) Development task
cueTTEs auerigSlent Qaweum@eer
(E) Answer not known
v Qg flwelerene
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17. Growth is 1n nature.

cueTT&El eremmug) @uicvLimen

(A)

@

(E)

Functional (B) Continuous
Gewepenpuirerg) Qarrgflwuneng
Structural (D) Psychological
SL_LewUILTeg 2 ereflwed FHwireng

Answer not known
aflen_ Az flweiidanay

18. A progressive series of changes in an orderly, coherent pattern towards the
goal of maturity is called

wpdiEflulen Qasems Crradl, @ (phisnar esfamsainan iy ousdd pHCurssmear QFTL,

LDTHDBISENET GTETeN cTem 2 enLp&HEDTLD?

(A)

©
(E)

Growth ) Development
euemrg ' 2 (IHEUMTSSLD
Maturation (D) Learning

WpH &S SODO6
Answer not known

e Qgflwelcrena

19. Identify the incorrect statement
Yeteu(pLd sapmisatiey eTgy sflwimang oieve?

¥
B)
©)
(D)
(E)

DPCD/2022

Development is a quantifiable process

cuei&d eTeLig) (h 2eney GFwaapanm

Education 1s a goal oriented process

sevelll eTaTUg @)e0& S, FMTHS QFWepenD

Learning is a process of behavioural change
SO TeLIG) BLSeng MHDSEE e QW pennITELD
Growth is a biological process

cuei&d eramLig) p(h 2-ulflwued Gewepenm

Answer not known
ellen_ Az flweldena
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20.

21.

“Development result in new characteristics and new abilities”. This statement
1s given by
“auamiddl yHw uaTusar wPoD LHu Hpasmer Aaeaelsdng”. Qbs UNEDS

(A)
(®)
(E)

) Gug)réw;uuLLg,J.

Gestalt {)Hurlock

GsevLmeL QDTS
Meredith (D) Douglas and Holland
Cufligs Leve pmitd Ganmeeir

Answer not known
eflenL GgMwedlebena

Identify the correct statement about development
cueridsl upPlw Gemeunb smpmisefler erg sflwirens) L wWTeTD STaRTS.

A)
(B)
«

D)

(E)

Development proceeds from birth and adolescence in a forward manner
and then it goes backwards

aueridflunengl Upubalimpbg QamLmiESng wOHMD  GembdUmEID  UMT b
wpanGammaSw penpwn@d enant i) anCarmsdl Qe g,

Developmental changes go forward in a straight line

cuenEs) rHprisar CrrIGaET e (parCarmadl Qaddlemnen

Developmental occurs at a different rate among different individuals
QeucuGeumy puisaiient Cu QeucuGeupy 985580 auatidd gHLBE DS

Development occurs at a very fast pace from birth hill adolescence and
then it steps

Gopss s Qeterols Lmeud eueny eueriéd WBls Geuswons BlapSng), Genent
<215 Hlenmiel (Hid

Answer not known

ellenL GgMwelildbens
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22. Name the area of study devoted to understanding constancy and change from
conception through adolescence
Blevavgsenanwerits Libg Qameraisn@d, smeynndalmbg @erenolt Lidheuld euaruiemer
LIHPSHDGL ueigsiul L ULl ugdaws GO L e b

A)  Child development (B) Human bahaviour
GLRBMS euaTTES) wafls FLsmg

(C) Prenatal development (D) Guidance
wa&UCUMISEE WPHULL eueTiT&s cuflsmLed

(E) Answer not known
cllenL G flweiidenay

23. The shortest of all developmental periods is
SIS cUaTTENE sremsafigyd Was GnSu sl

(A) Embryo

& (Embryo)
6 Infancy

usdama@beos (Infancy)
(C) Babyhood

Gubamsl umeuld (Babyhood)

(D) Puberty
umeuneLge (Puberty)

(E) Answer not known
eflenL Qg flwelerena
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Which are the ages and grade levels most important for parents to be involved
in their child’s education?
QupGpriger srhisaT GLhmsuilar soailule seiab CQeagss Coudmrqw g WHMID &SI
HlenauaeT cramen?
(A) Middle and High school

BHHm wHnib 2 wirHlenels LeTefl

(B) Elementary school

QgrLssliuerefl
6 Pre KG to 12th

UfGae] - 1210 cu@ iy cuenty

(D) Pre - school
Ciff — evsned

(E) Answer not known
allen Qgfweiebena

Arrange the following in chronological order
Yeneumeuaaupern &re cuflewsuflaniig Siemwésa b

1. Wisdom teeth

@HT&T LIM&ET

2. Menarche

oTgellLmi
3. Menopause
wrseilLmi Hngsn
4. Permanent dentition
Byhsy L6 el
A 2,38,1,4
(B) 1’ 2’ 4’ 3
© 3,1,4,2
4,2,1,3
(E) Answer not known
ellenL QgMuwieiicbene

13 - DPCD/2022
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26. At any point of infancy and toddler hood, if delay in developmental milestone
is observed, it is considered as '
Gwell umeud wHML oL Curb Lmeud Qeupdled, edlomeug), euerTEslgmt

MLOSMEND, FTLHD HUBHLLIUINET g et PlwuiLihE g
(A) White flags
QeueTener Q&g se

% Red flags

Seouliy Q&g H6T
(C) Black flags

st Qamg &er
(D) Blue flags

B Qamgser

(E) Answer not known
alenL Qg flweiidenay

DPCD/2022 14



27.  Match the following type :

(a) Infancy 1. Learning to relate oneself emotionally to
parents, sibling and other

GLPHenSLI LI(HEULD QuHGpm, 2 e 1IApHEHMT HmID D HL6n
o ewTrdSI reunns Ggmiy Qsredrer spmis
Qamemense
(b) Early childhood 2. Acquiring a set of values as basis of
behaviour
SLTDL GBS LI(HeLb BLSemgudlen g LienLulled wHiiysafien
Qzrglemul Qunge
(c) Middle childhood 3. Learning to control elimination of
. body waste .
BH GWHengL LI(HELD 2 Lo sifleysamer QeuaflCuipmeuamnss
sLHULBSS sDMs QaTeTEnse
(d) Adolescence 4. Achieving conscience, sense of morality
and personal independence
@erenls L(HEULD wengT_ &, (p&s 2 emrie| O Sefliu L
FEHATEME WL

@ (® © @

A 4 2 3 1
3 1 4 2
© 4 1 3 2
D) 2 4 1 3
(E) Answer not known
cllenL Gsflweldeane

15 DPCD/2022
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28. The period that extends from conception to birth is
sm&5M5560 (s DI Uy Big &G0 STLd
(A) Infancy
usferiugbas (Infancy)
(B) Zygote
gmeynm L (Zygote) sfGasm
ﬁ Prenatal
smesMU9er s Lmeaub (Prenatal)
(D) Postnatal
GrseusdnE phesw Lmab (Postnatal)

(E) Answer not known
eflerL Qs flwieiierana

29. According to Havighurst, achieving emotional independence of parents and
other adults is a development task of which period?
Canelmanievger Lg QupGomi wopmw QuilweiselLblmhg 2 aniéfl fHwurear ssbHrb
Qu(peug) 6Ths sTsLLSHle euetidsl Lianfl <@ ?

(A) Early childhood ﬂAdolescence
QYTDOUSTER GBS LI(HEULD @b umeuLDd
(C) Adulthood ; (D) Old age
WA euwg) (PSIMLD Li(HeuLD
(E) Answer not known
sflenL Qgflwelcrena
30. Havighurst denoted that at stage everyone accepting one’s
physique.

Blenewudled eeuGeumpeu(hd, SEGEEMLW 2160 Samwlndmear gHms
Qarerdlenpen eremmy GCaneildaniev @HUAGS .

‘6 Adolescence (B) Middle childhood
cuamflemid LipeuLd QenLHlena GLoHans Li(HeuLDd
(C) Early adulthood (D) Early childhood
(perm (PEIT LiHeuLD e GRHos LHeuLD
(E) Answer not known
eflenL Qgflweierency
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31.

Which of the following statements are true about developmental task?
euenr&S uanflepws updl Gemeupid sapmisetied erg &fl?

@)

(ii)

(iii)

(A)

©

(E)

Inability to master developmental task at appropriate age leads to
immaturity, in competency in accomplishing other task in life

s5@Hs ewdled euariFAl uaflselld GCzigdl Gup Queremw, diTFfulsment,
aumpsensuldieh Gp uaflgaamens Qawicusler HimenwullenanosE, el euEsESEng

It is not an universal process and differences are not apparent in human
beings
@a @m cesamellu Gewdapenn e wHmd Caupur@®sear wafsraeio

QeuatluienLwing: @evene

It i1s task which arrive at certain period in the life, successful
achievement of which leads to happiness, while failure leads to
unhappiness . . X

@& eurpsmsuiler o GAUYGLL s&re slLgms b ¢ uamilurgh. @s
Qeupdiarwrer sTgmanuT@b. WWEHPFEHEG Wl u@sEw, Csmeed wAPFAWLDHD
Hlenavd @ aulfl 6u@&@ELD.

(1) only %(i) and (111) only
(1) o b () wpmb (111) L Hb
(1) and (i1) only (D) (1) and (111) only
(1) wpmyw (11) WL b (11) wHmb (111) wI b
Answer not known
aflenL G flwelicene
17 DPCD/2022
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32. Choose the right match of developmental task with period :
cueni&S uiemfllen sflwrer QuMBESSSMS CoHTHESHEHELD :

1. Learning to walk — Early childhood
BL&&8 SHMCSTETeUS) - SYTDL ST GLRHOS
LI(IHGULD
2. Learning to talk — Infancy
Cue spmQareTeg) - L&SeTD @GLHens Li(HeuLd
3. Learning to get along with age mates - Adolescence
55 elWSlaTHLeT ULPEG6uS) — @eTento Li(HeuLD
4, Achieving personal independence - Late childhood
sLUL L &5BSTSmS DI _oug) — GBbengI @GLHens Li(heuld

(A) 1 and 3 are correct
1 wpmid 3 #flwrer QurBHSSLD

(B) 2 and 3 are correct
2 wpmid 3 sflwrer QuUrmSSLD

6 1 and 4 are correct

1 wpmid 4 sflwrer QuMEBSSLD

(D) 1 and 2 are correct
1 wpmid 2 #flwrer QumEpssD

(E) Answer not known
sflenL Qgflweildensy
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33.

34.

Temporary support the parents provide to a child to do a task until the child

can do it alone 1s termed as

GLHds @M Coumamwus delw ALHEGD ey, duHCoriser GWHMBEHE eUPBIGLD

SHETNS FT6| T DHMPSEHLILI(HoUg)

(A) Ageing
pglenid

(B) Induction
SNeTL_60

() Scaffolding

smrsal_(H (Scaffolding)

(D) Power assertion
<y 2 pSliunp

(E) Answer not known
ellenL Qg flwellcvena

Which of the following developmental task is not appropriate to the late

childhood?
Yeeumeuameupbler a8 GBS LheugSle UDLGSEE unBhsTs tlewe
(A) Learning physical skills necessary for ordinary games
gngryent ellepemim’_(HaEhéEE Coamanner 2L e Hpearsamenrd sHme
‘6 Achieving a masculine or feminine social role
e (<21) Quesr sepsls UTSHTSMS LS
(C) Achieving personal independence
sLLLL &FBAHTSMS AMLS
(D) Learning to get along with age mates
SMES; 5 euSQNHL 6T LIPS SDMIS ClSTeTEhse
(E) Answer not known
sllenL Qgflweideane

19
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35. The average sleep duration of infants
Gbmssatien syrefl g&s sreb

(A) 16— 20 hours
16 — 20 weefl Crybd

6 14 — 15 hours

14 — 15 werfl Cryb

(C) 12-13hours
12 — 13 wanfl Gryid

(D) 10-12 hours
10 — 12 wenfl Cryid

(E) Answer not known
aflerL Qg flweiicoanen

36. The nervous system is built through which process :
By T 6Tihg Gauidaparpudler epeid L amwssluBEng?

) Transfusion

G TTEEVLANLL Q60T
(11) Transmosis
pyreevGomdlen
(1i1) Neurogenesis
Bl Crmleyaii&lev
(iv) Neurotransmission
Bl Cymig rremneLdlager
(A) (1) and (ii1) (B) (i) only
(1) whHmyd (i) (i) i @b
6 (1i1) only (D) (i1) and (iii)
(111) ol Hib (11) wpmyw (ii1)
(E) Answer not known
sflenL Qg flweilcrenay
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317.

38.

39.

Arrange the following developmental stages from lowest to highest :
Yeeu(mid eueni&él Hleneseamer s GMDHSE! (NS 2 WITHSE) CUMT QR(PEISMDESGLD :
1. Puberty
@eTenLD Li(HeuLD
2. Childhood
GRHPS LA
3. Infancy
MEEGHNS LI(HEULD
4. Babyhood
LImed GLRhens Li(HeULD
A 3,4,1,2 B) 1,4,2,3
3,4,2,1 ) D) 2,3,1,4

(E) Answer not known
cllenL Qg flwelldena

Havighurst identified the age of early adulthood between
Canelgdanievl sarLMlbs (et WPHT LUHeUSHDETET @enL It L ST cug)

'éf 19— 30 (B) 19-35
© 19-29 (D) 19-25
(E) Answer not known

eflenL Qg fwsllbena

A stage where make-believe play blossoms and supports all aspects of
psychological development is
BOU emeud@d  eflenerum’(h weihg 2 emeliluie) cuetiFSludlen DMETSg DEFBISEETLLD
%5 MN&EGD Heve e7g)?

(A) Middle childhood (B) Toddlerhood
BHSST GLRHESLI LI(HEULD GoiperL. Gur@LD LHeULD
v Early childhood D) Infancy
<BTIDL GBS LI(HEULD GLHMSLI LI(HeuL
(E) Answer not known
cllenL Ggfweidene
21 DPCD/2022
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40. This is NOT a characteristic of early childhood.
Qesteu(meueeuDDI 6TEl 4 TDL GBS Li(HeUSH 6T LIGHTLISHET H6ben?

(A) Pre-gang age (B) Imitative age
(LPETT GLOLIG) QUG FTLIG) GUWIG)

(C) Questioning age % Play age
Caeell CaL_gb euwig eflenemwim(Hd euwgl

(E) Answer not known
eflenL Qgflwelcrene

41. Age of conformity refers to this stage of development

Qlewrss auwig) ereLig) euetEluden aThss: HLLSMGS GMESH DS ?

(A) Infancy 6 Late childhood

GYH®S LHeuD Gwhms L@ dduES
(C) Early childhood (D) Adolescence

GO LBusHldan (PHUEE Gemd LimeuLd
(E) Answer not known

sflenL QgMwelecrene

42. A child is supposed to be a problem child if he
R Ghans Grésmeans@ i @b erar eriCUNg &MHSLILGES DS ?

(1) Often harms other students in the class
cu@UUgeTer LDHNID GLHMSSMET 2ilq &g OgThsTe| HFudng
(i) Has poor fine motor skills

Clorsret [arT @wiss Snenser GameaT(heTerg)

(111) Speaks too much in the class and is restless
cuGLuepule flswns Cudl, gimsimbeuear @Qmadng)

(A) () and (11) 6 (1) and (111)
(i) wppid (i) (i) b (i)
(C) (1) and (111) (D) (), (1) and (111)

(i1) wpmd (111) @), (1) whmid (i11)
(E) Answer not known
eflenL Qg flwelldvenay
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43.

44.

Assertion [A] : Many misdemeanors in late childhood are not a result of the

child’s testing of authority and his attempt to assert his
independence.

apn [A] : GYbamg LmBausen ADLGHGD STaRTILHL L SEUDIET BLS®SEET

(seumiser), Guimssailen oflary Corsener  wLHMID Seurseien
&gbdlrsms o mFUuBSEID punhfHuler ellenarey @dame.

Reason [R] : The most common forms of Misbehaviour in school are

stealing, cheating, lying and fighting with other children.

sryenrd [R] : uetefiuden seupnen pLFmssaian WBseyd Qurgena emsser -

(A)

B)
V.3

D)

(E)

SmOSD, gompmise, Gumls wHmid Gp GWHamgsEsLen FamenLulHge.
[A] 1s true but [R] 1s false
[A] &M <pemed [R] seumy
Both [A] and [R] are true; and [R] is the correct explanation-of [A]
[A] whmb [R] @ran®w 2w [R] eramug [A]en sflwrer efarssio
[A] 1s false, [R] 1s true
[A] seumy [R] &
Both [A] and [R] are true, but [R] is not the correct explanation
of [A]
[A] vomb [R] @ranhin o amew, e [R] eeaug [A] @ sflwumer
ellemaaHb @
Answer not known
eflen QgMwelebena

Thumb sucking is an example of

slenL efllyeney 2 PlErage &@ THSFISSTLLMEGLD.

(A) Anxiety disorder (B) Depression
usL L& Camermmy DG (LPSSLD
Habit disorder (D) Behaviour
uLp&ESE GCamermm) BLSMS

(E) Answer not known

ellenL QgMwellbena
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45. Arrange the following cognitive development into correct sequential stages :
Qemeu(pd Sidleurpped euarigélanws sflwner euflens Hlenesems (PRISELOEHLD :

1. Preoperational stage
Qawdur’H&eE whamgw Hlene
2. Formal operational stage

wpevpwirer Qaweour’ () flane

3. Concrete operational stage
srendlf Qewdum_© Hene

4. Sensori motor stage
Qaeng Gum L Hlene

@ 1,234 w15

© 2,341 . D). 1,4,2,3
(E) Answer not known
een Qgflweiidenay

46. The following statements are true about habits?
ULP&S aupdsnisameTyl UbBiw (Gereumbd sbmisaiie 6rg 2 amenin?

1) Habit saves the individual time and thought.

LpEsapssEIsET gafluul L CErsamsub aararhgmarub Ceisng.
@11) Habits cause dangers sometimes.

UWEseLESEISET o Crrmsailcd @ usms ghubSgIHamer.

(111) Habits must not give satisfaction to the child.
LILpESCULDEGSEISET GBasEE SmUISH Siefl&ssamLg).

A () only ) (1) and (11) only

(1) o @b - (1) womod (1) WG
(C) () and (i11) only (D) (11) and (i11) only

(@) wHmd (111) LG (11) wpmbd (111) LG’
(E) Answer not known

eflenL QgMwelcrena
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47.

48.

Habits represent a fixed way of thinking, which is caused by repetition of a

LIPS SBIGET, GTETLIS) <26 gHUGLD, flanewss Sbsameartanwds GG Da).
(A) Social activity (B) Physical activity
Feps CFwum@ o L egmihg Gewuoum®
(C) Life experiences ) Mental experiences
QUITLDEENS G LIGUMBIGHET LDGHTLD &ITTHS <GB LIGUBIGET
(E) Answer not known

eflenL Ggflweidena

Assertion [A] : Good study habits start from a very young age.

som [A] Beve LigUiL| Upsab An euwSHembCs QST ki@,
Reason[R] : Enroll children in early learning programs for them to
discover new educational activities that will interest them,
smyemb[R] GLREMBEEHEE pTeu el L Saniqw AW el Qewidur@aemern serLHlu
<nbu &Hwe HLkiseflled Grhmssmens CargaeyL.
(A) [A] is true but [R] is false
[A] e ameno pemed [R] seupreng
(B) Both [A] and [R] are true; and [R] is the correct explanation of [A]
[A] whmw [R] @rean®w o arenw, Cugib [R] eearug [A)ear sflwner eferésind
(C) [A] is false, [R] 1s true
[A] seum <yenmed [R] 2 awrenio
ﬂ{ Both [A] and [R] are true, but [R] is not the correct explanation of [A]
[A] wogw [R] @Quanhid 2eawew. <geme [R] eeawug [A] Qe sfwmer
NemEsLDd b
(E) Answer not known

eflenL Qg flwedidenad

25 DPCD/2022
[Turn over



49. Habits are learned through

LD & SHEISHET sH&LILHE DG

(A) Application (B) Observation
ety 2 HmCHTESM

(C) Imitation ‘4 Repetition
wrdlflenws Gerupmed Smous Qelige

(E)

Answer not known
afenL Qg flweidana

50. Changes in thoughts, feelings and behavior regarding standards of right and

wrong is
CTERTERTEIGET, 2 GITEYHET, LMD BLsmsuid gHuBL wrhpmse, sfl wHMD Seumiseten
sHleneser QFmLTumeT eueriFs) S GLD.
(A) Emotional development ‘{) Moral development
2 aurT&S eueni&sl R&HS GueTTFS
(C) Physical development (D) Psychosocial development
2 L6 eueniéé o arelilwed &eps cueniiFsl

(E)

DPCD/2022

Answer not known
allen Qg flweidena
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51.

52.

The conditions contributing to emotional dominance are
o awriis Goendassd e unisels@h Hleanaannder

(1) Health conditions
&SN FleneoenLoser

@@1) Climatic conditions
sreblene Hlencentoser

(111)) Relationship with peers
E5T&8(EHLET 2 Ma|

(A) (@) only (B) (1) and (i1) only
(1) b @b (1) wHmd (1) LG
6 (1) and (ii1) only (D) (1) and (iii) only
- (1) wHmd (111) L Hbd - (11) whmw (ii1) vl G

(E) Answer not known
ellenL Ggflweflcenay

Identify an unsocial behaviour pattern during early childhood

Y TDOUETO GBS LiHeusSe @b Fups NGImTs BLEMS (LPEHDEI ML ALMETLD ST b

(A)  Unselfishness (B) Desire for social approval
FwIBeLAl6TEnLD Feps HBIESTISEH DSTEN 60T
6 Sex Antagonism (D) Attachment Behaviour
uredlwe eNCyTgwD @enertliy BLEMS

(E) Answer not known
eenL Qg flwelidena

27
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53. Assertion and reason :

e MISSE OHMILD STFERTLD :

Assertion (A) : Generosity in children is willingness to share with others.

sapm (A) . GRbosseian srprer werliumaew aTerugl  pLe  LSTHS
QamaTEnLd semenloamid GDISHE).

Reason (R) : This increases in frequency as selfishness decreases.

sryaerd (R) . &WHD G®pw @Geapw grymer Genrd HsNsfng.

(A) (A)is true but (R) 1s false

«
(©)

D)

(E)

(A) sfl yemed (R) seumy

Both (A) and (R) are true and (R) is the correct explanation of (A)

(A) wpmw (R) @ran@n &M, wppw (R), (A) er eflurer eflersaid

(A) is false but (R) is true ' '

(A) seuny spemed (R) &

Both (A) and (R) are true, but (R) is not the correct explanation
of (A)

(A) vpgb (R) @rasr@in &M, semed (R), (A) e sflwner eQenéaid Qdame

Answer not known

aflen QgMwelldbena

54. Choose the right answer

At the age of 5 the brain is about ——— % of adult weight.
powwrs euerttéFumLpbs epeerudler el wjLer @UA@ELCurgy —%
O auwig) GLPHenSudler epenaT @) (HéELD.

(A)

(©

(E)

DPCD/2022

65 ‘({75
75

65

55 D) 70
55 70
Answer not known

eflenL Qgflweidwens
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55.

56.

The stage of cognitive development in early childhood is
(et GRHans U(Heusdle Sidleurhme euariéflufen Hlena

(A) Sensory motor stage Preoperational stage
Qeersfl Gom i Hlane Uf,iuGragened Hlane

(C) Concrete operational stage (D) Formal operational stage
sran&if Qewdum’ { Hleave enwrear Gsweur_H e

(E) Answer not known
allen @z flweiidbena

Human development is divided in to domains such as

weflg cueni&sl erggamen semmigerrsl ANEEILIL_(HeTerng ?

(A) Emotional, cognitive, Spiritual, and Social-psychological
2 amriey, SAPleurHme, SLenSsDd wHmID Fepss 2 el

(B) Psychological cognitive, emotional and Physical
2 arelilwed, SidleurHPED, 2 eRTiey LOHMILD 2 L6

(C) Physical, Spiritual, Cognitive and Social
2 1 &, anbab, Sdleurdped Hmd Fepssd SHne

6 Physical, cognitive, emotional and social

2 L, Sdleurdme, 2 awtiiay HMID Fepssd Sme

(E) Answer not known
eflenL Qgflwellevena
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57. Match correctly at what age a child could copy these shapes :
R GLHMS TS U Gulq eIk FMWTE euenTw (1Pl Wb eraiuemng silwmsl QunmEs) :

(a) Circle 1. 6years
@Il LIb 6 cuwg)
(b) Square 2. 3years
&g 3 auwig
(¢) Triangle 3. 4% years
Wp&CETeRTLD 4% auwg
(d) Diamond 4. bY% years
EHEUT GUIq QLD 5% auwg

- @ ® - (© (d)
A) 2 1 3
2 3 4
©) 3 1 2
D) 3 2 4
(E) Answer not known
aflenL Qg flwellcreney

—_
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58.

59.

Which of the following statements are true about vocabulary in late childhood:
Gwhams umeusder ADLIGHID Gemeumb sapmisailey erg) 2 amarowmer QemhaemErdw :

(1)

(i)

(iii)

A)

©)

(E)

Errors in pronunciation are not common in late childhood.
GpHag LmeusSlen ApLEGSHude o safllbe st Qurgeureamaney 0.

The six year old child cannot command every kind of sentence structure
M QUG GRHMS SMASH UMSWTE eundhSll epblemuuwd UL amerud

QPlgng?

'The older child’s speech is less egocentric than that of a preschool child.

awgl wHins Gubassallar Cuss uteor Grhagsaiar Cuimss &M iGge)d
GEDEUTET HSBISTTLOTEIS).

@) only ‘ﬁ(i) and (iii) only

(1) wi @G . . (@) wHmyb (1i1) v b
(1) and (i1) only (D) (11)) and (111) only

(1) wHmbd (1) w b (1) wHmbd (1i1) wi b
Answer not known

cflen Qg flwelidenay

According to Piaget, one of the following factors plays an important role in
influencing development
Qwir@sl g6 sapmyLiig., Meeumb sryentsafie) earm cuatidflulleh gréssams THLBHSS U

&AW LkIE udlsHng)
)  Experience with the physical world

208 SiGDLIGILD

(B) Imitation
wrSlflenw Gemubmed

(C) Language
Qomg

(D) Reinforcement
UG L6

(E) Answer not known
sllen Qgflweddene
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60.

61.

DPCD/2022

Cross motor

UThS @WESSS e creLig,

A)
©
D)
(E)

skills refers to

GOUAEEDS).

It involves small muscles and eye-hand coordination
Qg APlw e HMID SET-0% @(HhFamearTienL 2 eTerL_&Swg)

Physical skills that involve the large muscles
Quilw gengerw 2 dreTL&Ew 2 L6 SHpansamenrs

Complex combination of skills

Spansefler f&semer Soamelamiis

Response of eyes to a moving object
&0 QUThEnsHE sareanflen giomismarnd

Answer not known
eflenL QgMwelecrene

Which of the following is incorrectly paired?
Qemaumeuateud e 678l HeumNs QenerTaEs UL (HeTeng)

1.

(A)

(©)
(E)

Centredness
MLOUISSHETENLD

Animism
N )

Intuitive stage

2 arenenticy Hlane
Preconceptual stage
e HmSHwed Hlenen

1 and 3 are correct
1 wpmid 3 &l

2 and 3 are correct
2 wppw 3 &

Answer not known
eflenL Qg flwelcrena

Ability to concentrate on some aspect
fe Sbamisefle seuad QFgissgb

belief that inanimate objects are alive

o Wlgpp  QumEplsdr 2 ul@mLer @ @EmUUSTS
BLDLSE

2 — 4 years

2 — 4 qumLrser

4 — 7 years
4 — T eumLraser

(B) 1and 2 are correct
1 wpmib 2 &M

m 3 and 4 are correct

3 wpmib 4 &

32



62.

63.

An awareness of space, direction, distance and quantity is a part of
@L1b, fleng, gnyd wHMID ere] DMl eNHLIL|eTTey TSH6 (h LGS WTEGLD
(A) Language development
Gomgl euerigs
(B) Creativity
UenL-LILITHM6L
(C) Social development
FePS GUETTES]
% Perceptual development
LjeVaT 2_awTiTey euerigs)
(E) Answer not known
eflenL QgMwellvenay

Identify the statements that/is true about adolescents.
@erd uheusSHaren T UHPIW 2 ETELWITET HHEMSEW L WITETLD SIeRT6LD

(1)  Adolescent expectations are sometimes unrealistic.
@emb umpeugdlarflen erdliumiliyser Sl swwhs6fie) 2 @TenLWDHDSTS @) (HEELW.

(i) Adolescence is a period of slow physical change.
@erenol) L(HeULD eTeLIg) Glngleurar 2 L6 wrhphigaien smelb.

(111) Adolescents do not face any problems.
@erb Lpeus et et pFsamanenwiub FhSHliuoame.

@ G)only
(1) o @Hibd
(B) () and (iii) only
(1) wHmb (1i1) w GG
(C) (@) and (i1) only
(1) wHmd (11) L HCW
(D) (1) and (111) only
(i1) whHmb (111) w GG
(E) Answer not known
aflenL Qg flweileena

33 DPCD/2022
[Turn over



64. Assertion [A] : Adolescents need special care, support and counselling.
aduynssed [A] - @end umausHamaEE Aoy seuafliy, sTel LHMIL %BCorFmar

Ggeneu pLL.

Reason [R] :  The Adolescent Friendly Hospital Initiative (AFHI) is one
of the endeavour in this respect.

smyewtd [R] . @emb umeusHaMmES UL wEssieuwaan wer wpwpd (AFHI) Qbs
cuanauiled e(H pWHHWITGLD.

(A) [A] is true but [R] is false

(B)

©

v

(E)

[A] e @renw, e [R] seumy

Both [A] and [R] are true; and [R] is the correct explanation of [A]

[A] wpmb [R] Qrem®ib 2 amenwo wpmib [R] erarugy [A] Qe sflwimean efleréaid

[A] 1s false, [R] is true

[A] saum, [R] 2 awrenwo

Both [A] and [R] are true, but [R] is not the correct explanation
of [A]

[A] womb [R] @ran@n o e, ame [R] eremug [A] Qe sflwnar eflangsid
@ eme

Answer not known

cllent_ Qg flweidene

65. Which of the following is a marked negative psychological consequence during
adolescence?
Qesteu(meuaeud e 6T @erentolt LiheusHled erdlienpuinen 2 erellwich ellenare < EW0?

A)
N
©
D)
(E)

DPCD/2022

Developing great self-Awareness

siflsomern sweMPliLarTie] euemigs)

Increasing conflict with parents

QupCorpLen flafsg aumbd Gomge

Becoming popular among peer-groups

&8 G (&&6T Ul L S

Imitating valued adult figures

wdliyerer euwg eupGamilern o heurigamerli (NerLHmISeD

Answer not known
elenL Qg flweiidenay
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66.

67.

The less serious of hazards in social development is/are
Feps eueTTFSNG GMDEUTET 2,USSISET
() Social deprivation
&0P& LDDITEEGMD
(11)  Prejudice
UTFUL_&D
(111) Non conformity
TN ) (2T
(iv) Anti-social behaviour
seps NGITS By &Hens

(A) (@) and (i1)

(1) wHmd (11)
\ﬂ (i) and (iii)

(i) wppeo (i)

(C) (1) and (ii1)
(11) whmwb (1ii)

(D) (1) and @(iv)
(11) wpmb (1v)

(E) Answer not known
ellenL Qgflweidene

Adolescents strive for ———————— from parents is the cause for conflict
between parent and adolescence.

aarflemd  UmeuHarpEEL,  CQuPGormEGn QerCu  ghu@b  ApraETUN g HE.

Qleuser grsea GQuHCoTHLS®mHE ————— & sOUPWHH QalieugsTd o (HeursmELb.
Autonomy (B) Affection
senggiflenwo (Fwm &) ubm
(C) Friendship (D) Success
BLL Geupm
(E) Answer not known
aflenL QgMwelevene
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68. At———— stage group conformity is at their peak
Blenauldled @p @emmssid euiseailen,_Gu 2 §8§58le 2 ateng).

(A) Late adolescence ‘ Middle adolescence
GpuEd euarflend LHeuD B(H&ST euerflbd LihHeuLD
(C) Younger adolescence (D) Adulthood
@emtd euerflemid Li(HeuLd WS LHEUD

(E) Answer not known
eflenL Qg flwellerena

69. Which among the following statements is NOT a characteristic of Identify :
Wetre(meuameudiled ergl SienLwimengdlen Amblwedr] @abene

(1) The answer given by an individual to the question who am I?
prer wi erenm Caemellag e safl pufen Lbe

(11) A person’s sense of placement within the world.
2 wdlaner @)L bg 55 e pufler 2_amriay.

(111) The meaning that one infers from what others in the environment
perceive.
FHMIEGHPEIE) 2 eTem HDEUTEHET eTeian 2 emiSlpmiger eramuladl(hbg @HeuUT TS
G&merT(Enge.

(A) () and (1)
@) whmid (11)

(B) (1) only
(11) wHmid

6 (111) only

(111) wHMYW

(D) () and (i11)
i) wppis (iii)

(E) Answer not known
aflenL QgMwaleenen
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70.

71.

refers to am adolescent’s perceptions of self-One’s Talents, goals

and life experiences.
euerflemd Liheuglemilen Lmteneuudled, @meumenL W Hpansar, Qa&@GHET WHMID UTDEMmS

SIILICIBIGMETS ST 2_auTiTeug)

(A)
(B)
D)
(E)

Self esteem
swinflurens

Self realization
SENDENS ST60 2_6RTTSH6
Self concept
SD&HHSH!

Self regulation

W QpOILLIH SIS0
Answer not known
affenL Qg flweildena

eram MwiiL®E g

An adolescent who faces identity crisis and poor self-esteem is often caused by

?

(B)
©
D)

(E)

Negativism

erdlioenm &bsenen
Developmental disorders
cuen&dl& @enpum(®

Early experiences
D,TOUSTE BEILIGULD
Under achievement
G®ODHS FTHMET

Answer not known

eflenL Qgflwuelweane

37
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72. According to Piaget, the hypothetical-deductive reasoning is a characteristic of
which period?
Dur@Qegig 6 sapmUiLig, Sgbrar-gliubub ugssey ebss sras L gSler ApiiGuie?

(A) Old age
(y)glGU)LD
(B) Infancy

GLRH®S Li(HeuLd

« Adolescence

@erenoll Li(HeuLd

(D) Adulthood
WA euwig

(E) Answer not known
‘elerL QsNweldene

DPCD/2022 38



The two significant stages of cognitive development present in the years of
middle childhood to adolescence?
BEOHSST GBS LHeugSledmbg Gemd Limelbd eueny 2_erer iMleurpmed cuetidflufes @) yetrH
GONL_5555 Hlevaw 61g? ' |
1. Concrete operational stage

srandlif Qewum’ @ Hlae

2. Sensorimotor stage
Qaeng Gom L mi Hlene

3. Preoperational stage
Uiy iuGragene Hlene
4. Formal operational stage

pempwimer Gewdum’ () Hlene

6 1 and 4 correct

1 wpmyd 4 &f
(B) 2 and 3 correct
2 wpmpid 3 &M
(C) 1 and 3 correct
1 wHmd 3 &
(D) 2 and 4 correct
2 wppid 4 &
(E) Answer not known
eflenL_ Qg flwelidvena
There are ———————— main areas of cognitive development that occur during
adolescence.
cuariflemd LimeugHler ————— & idldperr uGHEeT 2 drarer.
A 2 B) 4
2 4
6 3 D) 5
3 5
(E) Answer not known
eflenL Qgflwelecrene
39 DPCD/2022

[Turn over



75. Choose the correct answer

The stage of cognitive development in the adolescent period is ——  stage.
Qembd LmeusHent sideySpen cuariéfluded erplencoudier QméSlemmanit.

(A) Concrete operational
srendif Qawdurl ) Hlene

6 Formal operational

werpwirer Gewaur’ (h Hlenew

(C) Preoperational

Qeweur’ H&E Wwhamsw Hlae
(D) Sensory motor

2 awtiey/ @Quiss Hlenew
(E). Answer not knawn

sflenL Qgflwelerene

76. Mala saw in her teenage girl there was a sudden change in body size with
development of the primary and secondary sex characteristics this change
represents her
wror garg ey umeusHd samemn wHMD @rarLmd Hleve uralear L seter
QuETTFA L6 2 L seme] wpmibd 2L Nflgrsmpsded Sebyear wrhnbd semLmr. @bs

LIHPLD eTHmens @GP &S DG ?
(A) Puberty overlapping period (B) Pubescent stage
Swuiig eeutelien Hlane L fHlene
‘6 Puberty growth spurt (D) Post pubescent stage
L(HeULDEDL_S6 eueTi&sl benguwt Lmeu Hleanew
(E) Answer not known
eflenL Qgflwelcrene
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717.

78.

79.

Which of the following is not a secondary sexual characteristic?
esreumeuaeupMich 6T @ reirimbd Hlenew Lmedlwdd LiehTL] @eene?

Prostrate gland enlargement (B) Voice change

yGCrmevGLL &l Quiligngsed GTe0 LIHDHLD
(C) Public hair (D) Body hair

DABSTEIE (Pl 2L (1l
(E) Answer not known

eflen Qg Mwellcbena

Primary sex characteristic of adolescence is
cuerilemd LeusHenilen (pgemenLd LITeSlen LiewTL|

- Changes 1n the Organs directly relied to reproduction -
@eartumsssHDE Corguiner Qgriew 2 mililgefléd gHu@b WwTHDBIGET
(B) An early sign of maturation
wpETEflufer ,rbL HlEGo
(C) Bodily signs of sexual maturity which directly involve reproductive
organs
@aruQu@ss e miser SLmdlw uredwed apdiFsludler 2 L dlGhsdr
(D) Bodily signs of sexual maturity, which do not directly involve
reproductive organs
@aiQumés 2 niliLEeT Hdomg LreSlwe pdisfluller 2 Lo fEdlser

(E) Answer not known
eflen QgMwelldbenav

The for girls begins between 8.5 and 11.5 and for boys between
10.5 and 14.5 years
8.5 - 11.5 auwgieueny 2 aren Queant GwhansseEns@n, 10.5-14.5 cuwgleueny o crer oy e

GYhMEHEREEL ——— gHuBHEDS.

(A) Climacteric (B) Puberty
umellanapmise U(HEULDEOL_S
Puberty growth spurt (D) All of the above
Cousomest Lmey eueTiT&S) CuCe samliul L enengg)Ld
(E) Answer not known
ellen Qg flwedidenaw
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80. The person who receives counselling is known as

< Caoreaman QUOILD BLIEHT ———— 6Tem SamiSGomD.

(A) Mentor (B) Counsellor
auflamiyg 2 Ceonesm

(C) Client %Counsellee
QUG SENEHWITETT <, Gergenet QUmLIeT

(E) Answer not known
Mer Qgfwelidenay

81. Guidance is not giving directions. This statement was given by
au&T g6 erenig) ereueuiflufled Qaerer Couam(Bd eremLigl Heew Sadlweuit wimit?

% Crow and crow " (B) Jones
&Crm wHmd &Gy Cegremeiy
(C) Hafner (D) Wood
Cameuet oy

(E) Answer not known
ellenL. QgMwelerene

82. Vocational guidance assists an individual
Qzmfler ST (G (M BLI(HEHE, eTeueumn 2 S6 Sng)?
"( To choose and prepare for an occupation
@ Qsmflemas CoTbOSHSS HSDENE FTeanar S GFuw
(B) To adjust socially
seps TEwing genenen &fl Qe
(C) To plan an educational programme
@@ SOSH L sang S LBl
(D) Togetajob
Geuene eumiuliy Qum

(E) Answer not known
cflenL Qg flwelecrene
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83.

84.

The following statements are true about vocational guidance
Qgmpleent alflaT (g undiw Gereumd sapmisated eTgl 2 aTentn?

@

(i1)
(iii)
A)
©

(E)

Vocational guidance prepares individuals towards successful placement
Qsmaosri euflam hgd Qeupdlsrome Geusmaeimilienu Curédl saflpuisemar
suLGSgSng) |

At the adolescence stage the children begin to think more seriously of

their future career
@eren LHUSHD GLHMSSET HhsET THTsTR eumpsamaamw upd Sellwrs HbHéss

Vocational guidance helps in selecting a suitable vocation
Qgsmflevent euflam s Qurmssoner Asmfiemas Caiboshss 2 seldng

(1) only (B) (1) and (i1) only

@) v B ) o () opmd (11) wL G
(1) and (i11) only m (11) and (ii1) only

(1) wpmyb (1i1) b (ii) wpHmb (111) v G
Answer not known

eflen Qzflwellbenev

Which of the following statements are true about vocational guidance
Qemeumid spmisafiey erg) sflwneng) eraugy Agmaesnt cuflar’ Higedld?

()

(i)

(111)

A)

(E)

Occupational counselling fosters vocational readjustment to the career
choice made by the client

Qgmfleveni yCorsmanurarg eumgsamawureryred Qeuwiu@n Cdembfle Csrass
Qe g wm&renwlienu aeTisEs ng)

Vocational counselling fosters better vocational outcomes
Qgmflevai <Carsamar fpnps QTN (pgasmar auaTT&ES DS

Employment counselling does not facilitate vocational impact
Ceuemaeumiiiy <, Carsmanunang QsrfosnT snéas5ms cTellsT&Esng

(1) only (B) (1) and (i11) only
(1) b Hw (1) wpob (111) L G
(1) and (i1) only (D) (11) and (1i1) only
() wHmib (i1) w (1) wpmyibd (i11) wiGid
Answer not known
clenL Ggflweddensy
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85. Educational guidance is needed because
o6l eudlam’ Hze Coameu gblanaied

(A)
B)
(D)
(E)

The number of schools have increased
uereflgafien eranranfisans siHaMs g ereang,

The number of students have increased
wraeuiseflen crananflEams oifafsgidrarg

The number of career options have increased
Qgmfler eflmriumisaflen cramaniisams iHslsg dreng
Better paying jobs are required

Appg eagluib Qumpibd Ceuamaser Cgeneu

Answer not known
sflenL Qg fwelcranen

86. Which of the following statements are true about performance tests used in
counselling
<HDULESFHSOD LwauRSSLUBD  Qewddper  Cergmenser DOl GemeuHD
<Psmssailer 6Tg) o @menn

()

(i)

(iii)

A)

(©)

(E)

DPCD/2022

Performance test are totally culture free
Qewe fper Cangananaer (PHONIYID SOMTFFTTSMS HLHSS

Performance tests require motor or manual response

Qawed Fper Cenrgeamans@héE Qu&s () esapann L Caamauiu@®éng
Performance tests an specially useful for illiterate testers

soall fleuppeaiisener Gendlss Qswe Fmer Corseanensd Wsead LLEGDDSTS
BOEED

(1) only (B) (1) and (1) only
(1) w_Hwb (1) wpmid (1) L
(1) and (i11) only m (1) and (i11) only
(1) wHmb (111) L HW! (11) wHmib (111) wL G
Answer not known
sflenL Qg flwelcrenen
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87. Assertion [A] : Aggression may be caused by a desire to attract

attention.
auedmSse0 : seuaas FiGELD e@mLLssTed Aggression gpuL .
Reason [R] . Aggression 1s a way to find compensation for insecurity.
SMETLD : Aggression eenug  ungisriQanewdstar @il L&
gerLHlyb e euflum@Ld.

(A) [A] is true but [R] is false

[A] &M pamed [R] seumy
6 Both [A] and [R] are true; and [R] is the correct explanation of [A]

[A] wpmbd [R] @rar@o &M, wpmib [R], [A] e eflurer efergaid

(C) [A] s false but [R] 1s true
[A] saup, apame [R] & |

(D) Both [A] and [R] are true, but [R] is not the correct explanation of [A]
[A] wpmib [R] @rar@w &M, eyemed [R], [A] Qen sflwuren efenésid Gdvana

(E) Answer not known
aflenL Qg Mweliidbeney

88. Which of the following is not an emotional problem?
Wemeupeuameupdley 618 o ammi&fa e rFFamet en?

(A) Loneliness (B) Frustration
saflanio FLIHDHLD

M Cough (D) Anxiety
Qe FUM

(E) Answer not known
eflenL G flwelilebenen
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89. Assertion[A] : Confidentiality plays a major role in defining the

communication between a counsellor and a client.

adluynsse [A] : @m BCoresmeEEGn umgsmasuramé@Gh Qe ulona Qg iemu

auenmupliugle @raflwugsenann WaEw LikiE euflsEng)

Reason [R] :  There may be many predominant issues in confidentiality

yet counsellor should respect privacy.

smyeerd [R] o rsflugarenuld U WPEEW  HESDSET  @HSHOMD.  YLETTE)

Y Caongsrser gafluflawerw wfés Gouem(HLd.

(A) [A]is True, [R] 1s false
[A] ererug) ef [R] ereuigy) seumy
6 Both [A] and [R] are True and [R] 1s the correct explanation of [A]
[A] wpmbd [R] 2 aweno, ey [R] ereug) [A] Qe sflwmes eleréaid
(C) [A] 1s false, [R] is true
[A] ereémug) Qumd, [R] eremugy o aorenio
(D) Both [A] and (R) are True but (R) is not the correct explanation of [A]
[A] whmibd [R] 2 amenio yenmed [R] eramuig) [A] @etr sflwinen eflarésid @dane
(E) Answer not known
aflenL Gz flwelerens
90. Directive counselling gives more importance to ———— aspect of the child
rather than to the ———— aspect.
audlam_Hse Y Corsmanumeag Qibssansai Ghaguden
2bE5HHE qHs WPaHwusgieud eflGSHng.
(A) Personality, interest %ntellectual, emotional
SLEHENLD, Y TEULD SPeunThs, o_amriEs
(C)  Creativity, intelligence (D) Achievement, aptitude
UL LUILITHDE, Hiewenrdley STHEMET, BIL_L_LD
(E) Answer not known
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eflenL Qg flwelcrena
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91.

92.

Non-Directive counseling is
UPET_HED s 2 CaTsamer eremg)

(A) Child-oriented % Client-oriented
GBS FMTHS QUM HENSHUWITGTIT FTTHS

(C) Counsellor-oriented (D) Parent-oriented
QCONFSHT FTAHS QupConit #MiHS

(E) Answer not known

eflen Qs flwelideney

Assertion [A] : Behavioural counseling aims at developing desirable

behaviour and modifying or removing undersirable behaviour.

adlluymsse [A]l : pLsms ODLILESHSD TaTLg IHOUSSES FLE@SDW QUETTUILMS

Crréswnss OQaram@ererg, wLOHMD  AHOLUSSETS  BLEDGOW
LIHHOIDLDSHED DD AHDMISETEGHLD.

Reason [R] : Behavioural analysis is done using ABC model.
smyanrd [R] pLé@s uELiumie) ABC wrdflewd vwau®@sd QenuiinbGdng.
(A) [A] is true, but [R] is false

(B)

©

&

(E)

[A] 2 aenio, syamed [R] seupmeng

Both [A] and [R] are true; and [R] is the correct explanation of [A]

[A] wpmbd [R] @ram®id e-amenio, Gognb [R] eranug) [A] @en sflwumen eferéaid

[A] is false, [R] is true

[A] saupreng), <pemme [R] e amenio

Both [A] and [R] are true, but [R] is not the correct explanation of [A]

[A] wpmn [R] @rer@n e amemw, e [R] eemug, [A] Qe sflwrer eflerésd
3|06

Answer not known
eflen_ Qg flweildenay
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93. Probing and questioning from the counsellor enable
< Gargsfler Caerell HMID 216 eTeimem QFwOUHSSHH DG ?

To help students to move forward in helping process

2 g6l Geweum’iged rarreurser (perGarm 2 geu Ceuam(hib
(B) Investigate other parts of his or her story

<, Caorgenar Qumueuflen sangsuflen wHm LGdsamer LyTw GeuaTHid
(C) Counsellor can be with students physically or psychologically

2 CrFst wrenreugHEnLerm @masd (L6 fHumrs g o erellwed fHwurs)
(D) To entertain peer group

wrerreufler Campand @panad &lpelssa

(E) Answer not known
eflenL Gz flweiidenew

94. Which of the following statements is true about counselling?
Qaememevedn upl NealBHDd sapmisatled erg 2 @renin?

(1) Counselling is not giving advice.
Qaememenadlnl idleyeny euULPkIG6Ug D6

(11) Counselling is not influencing the client’s values
QaeTeeveln eumq Sawment UL semer UTHESTS

(i11) Counselling is not to bring a voluntary change in the client
QFaTaevel kil GUTIq&ESIITETEN T SETGTTTEILDTE OTHMICS A

(A) () only ) (1) and (ii) only

(1) w_@wb (1) wHmibd (11) w FHib
(C) (1) and (ii1) only (D) @) and (1i1) only

(11) wpmid (1i1) wI Hib (1) wHmb (1i1) v Gb
(E) Answer not known

elenL Gz flweildenay
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95.

Assertion [A] :

auedumiss [A] :

Reason [R] :

smyewrid [R] :

A)

v

©)

D)

(E)

Guidance is the assistance given by a qualified person to
identify their problems and help them develop the capacity
to cope with the problem.

auflam_(Hse eTamug) @ S@&H umibs pUT Seuisafen rFsamansamar
SiwLwrard  s&r@h  Grssmereows sonafls@hn  Hpemen  cuenidsgis
QEmeTer 2 566U MG LD.

A trained Counsellor helps the client understand their
problem and choose appropriate solutions and manage their
life activities.

ulpd Qupp YCorssr eaurgsamswrarilen Arssamaremw Yflbg)
Qeram(h Wunmssoner Steweus CapibOshiss euiseallear aumpsms
Qewurphsemer Hireudlss 2 geydlpm.

[A] is true but [R] is false

[A] &M pemmed [R] seum

Both [A] and [R] are true; and [R] is the correct explanation of [A]

[A] wdmb [R] Quan®io 2awerw [R] erarug: [A] Qe sflwrer sferésid

[A] is false, (R) is true

[A] saum [R] &

Both [A] and [R] are true, but [R] is not the correct explanation of [A]

[A] wpmd [R] @ras@w 2 awenw, ame [R] eremug [A] Qe sflwner eferésid

@édeme

Answer not known
allen Qg flweliidenay
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96. Arrange the following in correct chronological order:
Spsam_supenn sflwrer wpenpuliler euflensliLBFsayb.

1. Rendering guidance
auflsr_(Heugl

2.  Follow-up programme
QsmLit semament Ly

3. Collecting data

g6y Caaflgse
4 1,23 ®B) 3,2,1
1,2,3 3,2,1
© 21,3 v s 1o
2,1,3 3,1,2

> 4

(E) Answer not known
aflenL Qgflwelerene

97. The area of guidance is that of adjustments to social conditions, to things and
persons around an individual. This is called
aflar’_psder LGS sups Hoovmwsmer il Qalsw, @m safl pumrs sHOlujerer

QurpL&eT LHMID FUTSMET GNLILSTEGW. BSHEH ——— erenm Quwi.
(A) Social guidance (B) Vocational guidance
Fepa Ul laT_(Hge Qe auflsm (Hge
6 Personal guidance (D) Medical guidance
el L euflam L S GI0) uflaT (DS

(E) Answer not known
elen Qg flweldena
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98.

99.

100.

Compilation of an individual’s inventory giving details of each student

concerning the ————— and —————— contributes to favourable attitude of
self.
eeuGeums  wremreulen WHHILD updlwr  eSleunpmiger

sHurefluwrer QeucuGaumy vweTuTHsaiey SefsEw safliul L ulgweler Qgm@Li
sippufler swsmss GNES UMW eTarTantdsSh@ Ul au@GsSng!.

(A) Creativity and Aptitude (B) Attitude and Interest
UL LILTHDE WHMID HIL LD werdiumerento wHmb eflHUULD
(C) Perception and Attention ) Abilities and Achievements
Lo GmTTEL LDHMID SEUETLD HMETSHET DHMILD FITHENEHTHET
(E) Answer not known
clenL Qg flwelldvena
Good Boy - Good Girl orientation is present in ——— level of Kohlberg’s

theory of moral development.

s fApeea-poe Apul Hoour®, Gsrourisdlear @és euarmésdl GCemlumiger

Hlevaoudled @ ibQubmeTeng.
A 4 ®B) 3
4 3
v 2 ® 1
2 1

(E) Answer not known
eflen Qgflwellebene

proposed three level sequence of moral reasoning.
epeim Hleva cuflenss Spwioner, @upés fHwrer uggshaaes (e QAumPbseur

 Kohlberg (B) Piaget
CasreGuns QwrCey

(C) Skinner (D) Bandura
el eestiv ueaGrm

(E) Answer not known
eflenL Qgflweddene

51 DPCD/2022
[Turn over



101. According to Kholberg there are levels of moral development.

Care@uisflen sadpmiitig., sTTSs cueriélulie Bleneser 2_eteme.
A _ 2 (B) 4

3 D) 5
(E) Answer not known

eflen_ Qg flweiidvena

102. Choose the right matches among type
sflwmen Qurmpsshismer Csirey GFliweyb

1. Neonate — Intimacy versus Isolation
ydsnsl Gnps Gubms —  Qbmsshd Vs saflenn

2. School Ager 7 —  Industry versus Inferiority
ueref euwig - Qsmflée» Vs gmpey warliumesento

3. Adolescent —  Identity versus Role diffusion
@emeno LHELLD - Si@Lwmend VS ki@ ureud

4. Young Adult — Autonomy versus Shame
Qlemid euwig) - swr’ 8 Vs sjeuomerd

(A) 1 and 3 are correct (B) 1 and 2 are correct
1 ooy 3 &M 1 wpmw 2 &M
2 and 3 are correct (D) 3 and 4 are correct
2 vppw 3 &M 3 womyb 4 &f

(E) Answer not known
aflenL. Az flweildena
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103.

104.

105.

Whose theory states: Personality develops as the child goes through 8 crises
and has a negative or positive experiences.

R GYbds 8 Upmésysmens sLbg adivampurear (=) CoibampUTE ELMS®S
Qumib Cung) igen < Emeog SHpen o (heurdlng erenm wrmenw Camun® smmdps ?

(A) Piaget Erickson
LGy eTil& &6

(C) Vygotsky (D) Montessori
Nsm_evd o mearL_&i

(E) Answer not known
ellen_ QgMwellcbene

Externalising our unacceptable feelings and attributing them to others
describes which Freudian defense mechanism

BLOg FHNSQSTETET (PIqWITS 2 @TTeSamenl LDbSeTEheugih, DmEEGsS STTaTD sameugih
6B o -LImiig wies umgiamiy Qurdlpenperw efleufsEH g,

(A) Denial (B) Displacement
oIty JC\[INTATNTIN, 23
{ Projection (D) Reaction Formation
LGyTGlspager adliellenar 2 (HeurssLd
(E) Answer not known
slenL Cgflweidene

Eight Stages of man were discussed by
waflgafler et [ cuanswiren sroeuflenganu elleundlsseur

)  Erikson (B) Freud
eril&en e Ggmd ()

(C) Kohlberg (D) Piaget
Garer@uins NwirGen

(E) Answer not known
eflenL Qg flwelidvenay
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106. is the Sixth stage in Erikson’s theory of psycho social
development.

erfl&eveaflen 2 ar seps Cubum’ H Camum’igen 6 eug) Hlenewm@Lb
" (A) Trust Vs Mistrust
pb9sma Vs poldsmsufenenno
(B) Autonomy Vs Shame
seanl_8 Vs Sjeulomeid
(C) Identity Vs Role Confusion
L wrerd VS ganeer updlul GuLiub
\J Intimacy Vs Isolation
Qpm&awb Vs gaflenwo

(E). Answer not known
alenL Ggflweldena

107. How many years does sensorimotor stage of development last?
QeasMGur_Lmi (sensorimotor) eueriéfluden Hlenew erégamaen LT H&ET Big S@EW0?

{ birth to about 2 years (B) about 2 to 7 years

Wl &omi 2 <y, (H&ET euey &M 2 PS5O 7 T (HSET
(C) about 7to 11 years (D) about 12 to 15 years

&t 7 apgev 11 pamhHiser &t 12 apge 15 yarrhiser
(E) Answer not known

clen Qg flwelrene

108. Schemas are the basic structural units of human

evdom eramtiuhieug) wefls Slem SiqLILeL GulgeUEMLOLILIENL I BOSTGLD.
(A) Behaviour KMind
BLS®S LOGOT
(C) Ability (D) Environment
Soen Gpflew
(E) Answer not known
aflen_ Qs flwelcrene
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109.

110.

There are 4 stages of intellectual development — Whose theory states?
Sifleysri euenFHulleh 4 Blencvaer 2_arerer a@? Carlur® samdlng?
)

(A) Erickson Piaget
erfl&enes LwrCey
(C) Vygotsky (D) Gardner
afsr_svd ST
(E) Answer not known
cflenL Qg flweilene
According to Behaviourist constitutes the process of language
acquisition.

BLEDS GemlunlLmamisaflen spmiriig Guomfleaw &dmé Qsrerehd GFwd pepuiler
(PODEW FTAHI SHLDHSHIETETSI.

(A) Imagination (B) Thinking
ShHLenET Absena
Imitation (D) Perception
unég 2Cs Cumenm QFuwige Ljeves &8

(E) Answer not known
clenL Qs flweiidenay
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111. Assertion [A] :  Adolescents and young adults become capable of seeing
multiple potential solutions to problems and think more
scientifically about the world around them.

smssl [Al Qerd  umeugHent LOMD  @everEhiser  AFFFMHEHHEG U@
grsFwionen Sie|semerd sramid Fper Qarameuiserts wINHDTTEET
LONID SeuTsmens &HHlujerer 2 w&Smsl updl Coaib Pleflwied
fowre HpdasHpriaer
Reason [R] : This is because of the ability to use deductive reasoning and
understanding abstract ideas which 1is characteristic of
formal operational stage.
smyewrid [R] : gQamafle, et @opurer Geweurl(é sl eawlGer
ApLiblwesenrean &H&aE SMmSFHdsmer UHHw Friudud LGSsDey
wHnb Yigemal uu_lsifru@g,gjmg,g)esnm (é;][_T)GDT
(A) [A]is true, but [R] is false
[A] 2 @menwo, Spenmed [R] seupreng
Both [A] and [R] are true, and [R] is the correct explanation of [A]
[A] wpmid [R] @ran®ii 2 aweno, Cugud [R] eramug) [A] @er sflwnen eflaréso
(C) [A] 1s false, [R] is true
[A] seupreng), same [R] o awreno
(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A]
[A] womn [R] @ran®in o amew, peme [R] eramug [A] @en sflwnar efatésitd
3|6
(E) Answer not known
e Qg flwefidrene
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112. The interactionists claim that language maturation results from the complex
interplay between the unique biological capabilities and the

of the second language learners.

@rarLmbd Qumll spmé QsmerGeurflen GQumfl wpdiFflwneng, euisaien safsgeinme

2 uiflwed FHuwirer Hpes wHmd < leeTHSSTED
Environment (B) Knowledge
GPhlen <ifley
(C) Skill (D) Knowledge on first language
Spen g Qumflufer oidley
(E) Answer not known
eflenL Qgflwefdeney
113. Jean Piaget suggestéd that children use to learn language.
Gebmgsar Qumflaws spms Qsmearer o6 1hwurGy ow uflbgieny
Qe .
(A) Assimilation
SeneuwLILI(NS SIS
(B) Accomodation
[ ACGEE R AT I ALY
(C) Adaptation
E)emTTEI S0

) Assimilation and accomodation
semeuwIL(HSHSD WHOID @erThiGsadled CummbgiSe
(E) Answer not known
aflent. Gz flweiidena
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114. According to Skinner children are born with a state of mind.

evdlenamflenr sapmliLg GbmsseT ApsEnd Gurg wer  HleneGuim(
WpsHpriger.
(A) Filled (B) Happy
Hlevmaey QupHm wélp&Shurer
(C) Definite Blank
o mlwimen Ceupmy
(E) Answer not known
v Qgflwelcrene

115. Match the following :

Qurmegs

(a) Piaget L.
QuwrQegg

(b) Freud 2.
NANT, T

(¢) Kohlberg 3.
Gameurns

(d) Skinner 4.

eudetrenni

@ ®O © (d)
6 2 1 4 3
B) 1 2 3 4
) 3 2 1 4
D) 4 1 3 2
(E) Answer not known
ellenL QgMwelidvena
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Psychoanalytic

wGerm uELumie]
Cognitive theory
Hevamierie] Gamum(
Operant conditioning
Blubsamet @uids0

Moral development
ApMperna@Liul L euerigd
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116. According to Bandura’s social learning theory, the child is regarded as
uerT(Hirredlen Fepad &HHO CaTiumliigern Uiy GLHns 25S SHSULHSH DG

(A) Passive listener

Siemwdlunss CslGumr

(C) Facilitator

Active learner
SOIENIILTSS SHELITT

(D) Speaker

2 gl Yfueur Guaueur

(E) Answer not known
alen Qgflweilerena

117. Observational learning is also called as theory
2 Hm Crrédls sHmed eTemg) Camun(p eremmld Sienp&siLGEDg).
‘ﬁr Social learning - (B) Trial and Error learning

FAP&E HHME) uenn seudlé SHDed

(C) Field (D) Gestalt
&6 QgevLmeL (ppennd)

118.

(E) Answer not known
elen Qg flwelidbensy

variables influence each other

In social learning theory
sepas  spped  GCamiumiiged
THOUGSHEDS!.

A 4
3

(E) Answer not known
ellen Qg flweilcbane

wmger  aGnTh QM STESEMS

B) 2
(D) 6
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119. While attemptirig to 1dentify neural receptors that trigger salivary glands,
Ivan pavlov found that responses can be learned through
smeuen  umeuCGeomey, 20  &rldews gramssquw BroEwsEss sLgHew  oPlu

pHuGLAUTRE, aHibsuhsmar pped SHNIGQETETET (PLGWD CTETMHIE

ST D BT,

(A) Operant conditioning
Hlubsemer @uissn

(C) Instinct
2_ET(EhHERTITE

(E) Answer not known
elen Qgflweiidenay

120. Match the following :

QuUTSSIS :

(a) Freud’s theory 1.
Qymiiger Camum

(b) Erickson’s theory 2.
erflésge Gam L@

(¢) Piaget’s theory 3.
UwrGsguilen CamLim(

(d) Skinner’s theory 4,

evdlenarfler Cam_Lim()

@ ®m (© (d)
A 1 4 2
K 2 3 4
©C 4 1 3
D) 3 4 2
(E) Answer not known
eflenL Qgfweicrena

= DN = O
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(B) Observation

FalT HeuaTlSSHe)

) Association
@enamtLiL

Rewards and punishment

Qeu@E &6 OHMILD FeRTL_NETSET

3 structures of personality
2h@menoudien 3 &L t_epoliLser

8 stages of psycho social development
o _emellwied sepss euariFSluden 8 Hlancvaser

4 stages of cognitive development
Sibleurpmed cuemi&Sludler 4 Hleanavsar
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121.

122.

Choose the correct answer
sflwuner uflened CombbsHSF eT(PSIs.

Quickening — (Movement of foetus inside the uterus) is felt in
months.

dAeroupsgise  (s@BUomusEer  smelar Qussd) ————  OIFEGEND
2 eI Emg.
) 5th (B) 6th
(C) 4t (D) 3xd
(E) Answer not known
ellen Qg flwelidena

Given below are events that lead to pregnancy -and development-of the
embryo. Which of the following options gives the correct order of Sequence
which they occur

&STULLD HNID & euaTiFfleEE eufleuGsEw Hapesdr SCY Qamhissiiul (Heterer. Lfﬂmeu@w
efmuumsaile erg eneu Hlapb euflangufer sflwrear euflanserws el ma?

(A) Fertilization of egg, maturation of egg, release of egg, embedding of the
embryo in uterus
wLleruler smssssd, pleniulenr @i, @le Geuafli®), &smeveu
smUeuuller uflsse

(B) Maturation of egg, fertilization of egg, release of egg, embeddlng of the
embryo in uterus
wplea pdiFfluemLgd, wlerulear sméshssw, wlear GQeall@, smane
smlenuuile uFlssen

(C) Fertilization of egg, embedding of the embryo in uterus, maturation of
egg, release of egg
wLlerwlen smssilssd, smeaes smuoLler wuhssed, wleruler wWHTES,
e e Geueflui(h .

) Maturation of egg, release of egg, fertilization of egg, embedding of the

embryo in uterus
wpleorler wpdisd, @pleruler Qeuelui(®, pleviulen &meymsed, SHane
smUemLuden LFSse

(E) Answer not known
sllen Qgfweldene
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123. Complete lack of oxygen is known as which when prolonged can
lead to brain damage or death.
< gafiggaflen (e wTeT UHDHTEEGMmH ———— TaTn AMPESILOEADS, @& Big S5Me
panar LrLiL] opmibd wFamgSHE, eulelGEELb. '

(A) Anosmia Mnoxia

Sjermendlwim SieTTEHendwim
(C) Antopsy (D) Ptosis

SILmad Gunrélev
(E) Answer not known

eflenL Qs Muwieficrene

. 124. Which 1s not the cause for birth defects?
gl WU @GenUTHSEHEE STTERTD SH6?

Stress (B) Chromosome abnormalities
DG Si(LPSSLD &CrmCLIGETD HFTHTTERTERISET

(C) Radiation (D) Consanguineous marriage
&8 ei&s @) emrgsoman S (HLoewTLd

(E) Answer not known
alenL Qgflwelerene
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125.

126.

Which of the following statements are true about prenatal influences?
wasLICLNIGE WOHUL L srésmigamernt uHm Gemeumd sahmiseflen 6rg) 2 amento
(1) Maternal malnutrition
gmudlen sert’  §&581 @GeDUT(H
(11) Mother’s emotional state
gmuden wenblenen
(111) Mother’s education
gsmuller serel Hlena

(iv) Mother’s economic status
smuller Qummenmsmy Hlena

(A) (i) only mf(i) and (ii) only

(1) w @ . (1) wHmw (1) wi b
(C) (1) and (i11) only (D) (1) and (iii) only

(@) wpmd (111) wHb (11) wHmd (111) wL G
(E) Answer not known

alenL Qgflwedicbana

Among the following this is not a period of prenatal development?
Qeeu(meuameudPled @&l &UIGLINIES WPpHULL cueTiFSlullen ST jee.

(A) Period of Ovum (B) Period of Embryo
&(HpLenL_udler &meLd & (Hedl6T &HTeLd

(C) Period of Fetus ) Period of Neonate
WS smeden smeLd LISl eTRIGLRHBMNSS STeLd

(E) Answer not known
eflenL Qs flwelicvene
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127. Teratogen 1is agent that causes damage to the developing

embryo.
QLU GrrQgen eramtiu@® ——————— Qun@mer, &, euaiéflag ShiE elamenels@n
STFeTITGLD.
(A) Medical (B) Social
WGEERY FAPSHLD FMTHS
Environmental (D) Cognitive
GpHlow <idSpen
(E) Answer not known
eflent G flweldena

128. Trisomy 21 is

g fIGama 21 eremuig)
Down’s syndrome (B) Klinefelter syndrome
Leere Slewr Grmib &V ol LIdLIT Har_Grymb
(C) Edward’s syndrome (D) Patau syndrome
eT_aum_e e _Grmb uLrey Hasor_Crmbd

(E) Answer not known
aflenL Qg flwelerene

129. 1s an organ that helps to combat internal infection and produces
hormone to support pregnancy.
2 aCrpml Qgromssamer erdlisg Gurpm_eb sruub sMés Caameuwrar apmiCresamer

&68 2 FQ|D 2 ML ——————— pGD.
Placenta (B) Amniotic bag
BEp5S Camy uef&E@LL eou
(C)  Umbilical cord (D) Uterus
Qg mier Glgmg &(mLIenLs

(E) Answer not known
ellenL Qgflwelcrene

DPCD/2022 64



130. This prenatal diagnostic test takes pictures of the unborn baby using sound
waves.
@ Smesmar LuaLBhSS UpssTs Gwhmsula LB ah&EWL, wsLCUNES
wHulL Crmi HMlsd Canganar erg)?

(A) Catheter ()Ultra sound

GUlg Gm : DIDL_T For emrL_
(C) Prenatal check (D) Pelvic test

wasLGLMIEE wHul L Carseman @huy ufGergenar
(E) Answer not known

sllenL Qgfweldene

131. Match correctly the stages of growth with their corresponding days/weeks:
auemisSlullen  Hlenewsener  eupmlenr  QHTLTLENLW BT SET/cUTIras@EhLe  FilursLs

QuUTHSH6|b.

(a) Ovum 1. 2-9 weeks

‘ SHPLL 2-9 sunyraiger

(b) Embryo 2. first 28 days of life
& (embryo) 9AHS PpS 28 B ser

(¢) Fetus 3. 0-14days
wpdir & (fetus) 0-14 prsdr

(d) Newborn 4. 9 weeks — birth
UnbHs GLHns 9 aumgrigeT-19mLiLy

@ ® @© @
A 1 3 4
3 1 4
C) 4 1 3
D) 2 4 3
(E) Answer not known
sllenL Qgflwueldene

= N NN
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132. Match the following:

QuTSSIS.
(a) Mitosis 1. 12 — 16 cell structure
anLoGLTlen 12-16 Qe el
(b) Movula 2.  Mitotic cell division
epGYeT anwCGuimgd Qae Yeray
(c) Blastomeres 3. 36 hours after fertilization
GermevCLmdlwiren a55MN58 36 wenfl CHISSIEHE; Ge
(d) Clevage 4. 2 daughter cells
Mlerey 2 waer Qga

@ ® © @
A 1 3 4
B) 2 4 3
3 1 4
D) 4 1 3
(E) Answer not known
eflenL Qg flweideney

DD DN = DN

133. The outer layer of the protective “bags of water” is called
B urgismiy evusaeflen QeuafiliLp SIHEE eTen) SMWPSSLILIHUE) 6T8I?

(A) Amniotic bag (B) Decidus capsularies
< aflwmgd enL QLALev sriismien
(C) Amnion wChorion
S| beflwer Camiflwes

(E) Answer not known
eflen GgRweiidvene
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134. Choose the right matches

swmer Qurmssnisamer Caiey GFuiis

1.

Embryonic disk
S(meul_(h

Ectopic pregnancy
@b wrdlu sitium
Implantation

o @TeneULIL]
Chromosomes
G&GrmGurGamb

M 1 and 3 are correct

©
(E)

1 wppid 3 &

2 and 3 are correct
2 womib 3 &
Answer not known
edlenL. Qgflweldene

Inner mass of cell turns into embryo
2 Wiramieilen 26T Hlenm sHeuns LTHH DS
Normal pregnancy
EMETFERT STLILILD
10 - 12 days
10-12 priser
24 pairs
24 Gegmg &eir
(B) 1 and 2 are correct
1 wpmib 2 &M
(D) 3 and 4 are correct
3 womib 4 &

67
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135. Match the following:

QUTHSSIS.
(a) Prenatal period 1.  First two weeks
wasUICUNIEE (WPDHUL L STeLd (PSED 2 CUTTRIGET
(b) Period of Ovum 2. 2-—8weeks
&(H (PLen_uldlem Hmevd 2-8 aungmiger
(¢) Period of Embryo 3.  Conception till birth
&(meles smeld &m&SMA0L-GLhens i eueny
(d) Period of Foetus 4. 2rd month till birth
WSTEm ST 2-1b IFD WSO GLHens WLl eueny

@@ ® o @@
) 4 3 1
®) 1 4 3
) 3 1 4

wri's 1 2

(E) Answer not known
eflenL Qgflwelcrene

=~ DN DN DN

136. Which trimester is the most critical for fetal development?
&(meller eueTTESGE eTHS S WNSHmIGET WG APSHHWDTETEneu?

W First trimester (B) Second trimester
PSP PPN LOMGBISET LYTRTL_MGUF) CLPETM LOTSBISET
(C) Third trimester (D) All are equally important
EPGITDTEUS! PG DTS MBISET GTERIT DTS MIGEHLD (P&HEWILD

(E) Answer not known
eflen Qg Mweildenew
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137. Conception or fertilization takes place in which part of female reproductive

system
Quietr @artitumés erwiiben sl LGHuller smssilsse paL QunSpg.
(A) Ovary (B) Uterus
SHPLEOL SHLIemL
M Fallopian tube (D) Cervix
S(HLIEHL Gl S(HLIMHL el
(E) Answer not known
aflen QgMweflbena
138. Average ejaculation carries about million sperm cells
gomm ——————— 0dSlwer elpgsamssar gabeunm Hbg GeaualCupmpgeler Cumgid .
QeuefCunSmg.
A 600 (B) 400

©) 300 500

(E) Answer not known
eflenL Qgflwellbena

139. Which of the following statements is TRUE about fertilization
smeymge upHw Weraumd Msmssafld 6Tgl 2 @menn?

@) It is the union of the sperm and Ovum
@5 9bgl HMID SHEPLL AT erHiulb.

(11) Fertilization takes place in the isthmus of the oviduct
& (e ulen @awaile) smSSTS50 pearLQumnSng!.

(iii1) Fertilization takes place in the male gonads
&HESNSSD L eui Aptiymiiie pen QumiSng).

(A) (@) and (11) (B) (11) only
(1) wpmb (11) (11) o’ @Gw
M (1) only (D) @) and (111)
(1) w_Hibd (1) wpmyw (111)
(E) Answer not known
alenL Gz flwelidvena
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140. are involved in Genetic transmission.
wrugy LflbrHpsdléd —— LkiE udlsS g
(A) Nucleus Chromosomes
Bl saflwen G eI
(C) Cytoplasm (D) Sperm
g GLmlernab eNBsem
(E) Answer not known
cflen Az flweidanaw
141. Assertion [A] : Maturation is the process of chromosomes reduction
through cell division
auedlymissa [A] : . pSitey erenig Qee 19Mellen ppatd GCrmGrGembsmens @G@nEELD
QFwed (peDWITELD.
Reason [R] : A number of possible combinations occur during this
process of maturation
smyewrd [R] D @b pdiEdllier Curg Le srsHwioner Galismaeser ghuBEaner.
(A) [A]1s true, but [R] 1s false

V.8

©

D)

(E)

DPCD/2022

[A] 2 a@renwo, penmmed [R] seupreng

Both [A] and [R] are true and [R] is the correct explanation of [A]

[A] wpmbd [R] Qrar@ibd o aranwo, Goab [R] eranug) [A] @ér sflwrer ederésib

[A] 1s false, but [R] is true

[A] seupreng), < amed [R] 2 @wenwo

Both [A] and [R] are true, but [R] is not the correct explanation
of [A]

[A] o [R] Qrear@w 2 arew, emed [R] eremug [A] @ sflunar eferéand

DD

Answer not known
eflenL Az flweiicenay
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142. Negative affectivity children are not characterised by
LUTEDHD GLHmssHefl_b STarTiiuLTS GardlFwun

(A) easily distressed (B) cry frequently
erefigled grupliu@®se SNy &5&1q. D|(LPS6D

{positive anticipation (D) irritability and fear
Critenpuwire erdlTummiiyy erflF&ad HmID Lwb

(E) Answer not known
eflenL Qg flwelldbene

143. According to Thomas and chess, a child that is very irregular in sleeping and
eating, resists change, and is negative and loud is labeled a ——— child
smwev Hmb Geev Camlumigery, 2 are| 2 | QsTaTEhgd, SISEULPSHD Hweuhhle
@@rﬁua;gbgj, Lorrg')g)gm'g THiSgl, éra_ﬂr'rmemg)u_lrra; o 5568 (e @'l(p‘ﬁj@s;g,

eremm GOIIELIUGEDE.
(A) Easy mﬁfﬁcult
erafig e S\q GTLOMTGHT
(C) Slow-to-warm (D) Negative
@Quey Hlevas wrnsadle 9bsd erdliroenm
(E) Answer not known
sllenL Qg flwelidvenen
144. influences a children’s behaviour and the way they interact
with others
Gwhmssatlen HLSmS WHNID Seuiser, whneuTsCerm(h Qs Qarareudd
snéss®s ghUbSSIEDNG.
(A) Attachment WTemperament
udm wCarrumeud
(C) Mood swing (D) Socialization
warhlene HLTHDHLD FAPSLOWIDTEHEE

(E) Answer not known
cllen Qg flwefdenay
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145. The emotions of the child during infancy are mainly
GBms LimeusEed Guhamguder 2 ariisflsailed apsduwrs Qmliame.
(A) Personalized and trained
saflviuwermaaiLC L wonb nullpHweflssii g
(B) Socialized and untrained
FepswWwLrsSIul L wHnib LWHS Cuprs
K Egoistic and untrained
SISERISTIAPL LHHID LUIHFH @ TgeuT
(D) Prejudiced and trained
urpulsd womid uulH Qupmsi

(E) Answer not known
elenL Qg flwelldena

146. Primary emotions include
GTENEU (LPSHEIENLD 2 GTTEFSISHET?

@) Surprise

< FFRwLDd
(1) Disgust
S GRY G
(11) Empathy
UESTSTLILD
(A) () only (B) (1) and (iii) only
(1) w_ (i (D) wpmyd (1il) L Eb
W (1) and (11) only (D) (i1) and (iii) only
(1) wpmb (1) LLHWD (11) wHmd (111) L Hb
(E) Answer not known
ellenL Qs flwelcrene
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147. By the age of 2, the children’s vocabularies can spam between

Qe euwdpEer, Gubassaiear QembeerEhln ——————DEGET @ (mEELD.
(A) 1000 and 2000 words (B) 250 and 500 words
1000 eSmbs1 2000 250 eSlmibs1 500
‘6 50 and 100 words (D) 500 and 1000 words
50 eSlmpbg) 100 500 a8 1000
(E) Answer not known
eflerL Qs flwelidene

148. The most important harmones for human growth are released by the

glands
wells  euatiFflgamen  Wls  psHuwrer  epriGoransdr  oThs  &pLGseTmed
Qeueflii_Liu@Sermen?
'(( Pituitary (B) Sebaceous
L TTEN QFCuilwen
(C) Pineal (D) Pancreas
Seflwed urerdfwme

(E) Answer not known

allen QgMwielldvena

149. One in every birth has natal teeth at the time of birth

—— @ GRbos Wrsausder CUTCs LDEEHL 6 pn&dlamg.

\»( 2000 (B) 1000
©)

1500 . (D) 2500
(E) Answer not known

eflenL Qgflwederene
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150. Choose the right match of activity with age achieved
Qeweuriger sflwrer QUS55 CoHAH0SHEHLD.

151.

DPCD/2022

1.

A)

©
(E)

Rolls from side to back — 8 months
u&seUTLige0l(Hhg) NememTed 2 (h(@EmhLd - 8uwmgwbd

Crawls — 7 months
S56(LPSE - 7w

Walks — 11 months
BLLUILIG) - 11 wrsib

Jumps — 9 months
GG - Ywmgwbd

1 and 4 are correct _ m and 3 are correct
1 wpmid 4 &l ’ 2 bpmitd 3 &

1 and 3 are correct
1 pmib 3 &l

Answer not known
eflenL Qgflwelerene

(D) 2 and 4 are correct

2 wpmib 4 &

Choose the right matches among type.
umsd@ Qe Gu #flwnen QU shisamer CaMB0SHESLD.

1.

4.
v«
©€)

(E)

Social development
FOPS GUETTES

Moral development
STTLSs cuemi&s

Cognitive development
SHUTHOHO eueTigS
Language development
Qumfl eueTigs)

1 and 3 are correct

1 whmib 3 &M

2 and 3 are correct

2 vppyd 3 &M

Answer not known
cllen Qs Mwaelerena

Albert Bandura
OUITL Limeser iy
Ivan Pavlov

@eumen LmeuGeomei

Jean Piaget
shletm 1lumGlent .

Carl Rogers
smiered Crmeyiei

(B) 1 and 2 are correct

1 wpmyd 2 &

(D) 3 and 4 are correct

3 wpmidb 4 &
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152.

153.

154.

At ——— stage, children recognise their familiar sights, sounds and

touches.

Bevouller, GLHMSHET, SRIGERGE UWSSDI STLASET, @& LHHIb
QETHSOSEMET BN ITETLD STTHDITEHET.

(A) Early childhood
PAGRH®SL LG

(C) Later childhood
e @LBensL Limeu

(E) Answer not known

ellen_ Az flweildvena

In APGAR scale ‘G’ stands for

APGAR iemea‘G’ erenmuigy
(A) Growth
cuer&sl
(C) General-health
Qung &&THTyD

(E) Answer not known.

allenL GgMwellvena

(B) Toddler
GOIBEL_LI LI(Heu
Infancy
GeflLl Li(meu

{Grimace

s Cpaflliy

(D) Grasp
g

A reflex to test hearing in the new born is
UHsns 9pps Gobasuler Gealsdpaar GardlaEh aldamauden QLwi

(A) babinski reflex
umdenevd) siaflFens

(C)  moro reflex
CurGrr iaflsans

(E) Answer not known

ellenL Qgflweldens

startle reflex

HHSHHL aNFens (startle)
(D) grasping reflex
Yy 550 SiafllEens
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155. The duration of sleep of a neonate in a day
@ prafled) ApHEg Ghangullen FnéssSen ST

(A) 15to 19 hours (B) 12 to 15 hours
15 @pged 19 wawfl Crrbd 12 @psed 15 wenfl Gy
15 to 20 hours (D) 10 to 20 hours
15 @psed 20 wenfl Cryd 10 s 20 wewtl GHrd

(E) Answer not known
eflenL_ QgMwelldbena

156. Adjustments all new born infants must make immediately after birth
yEsmasl Uphs maisg GRbamssEhd phEs 2L GCarGw Gl Geuaig i LoTHDHAISET.
(1) temperature changes and breathing
Qeuliublened THDHEISZET HMID HFeUTHSHD
(11) taking nourishments and to elimination
oer’ t§8558) T(HSSD HMHILD Sle samer Ha@seo
(111)) breathing and to focusing
&eunél$ged LHDID HeUETLD CFIS D

(A) () only mi) and (i1) only

(1) w @b (1) wHmid (i1) L Ew
(C) (1) and (111) only (D) (1) and (i1i) only

(1) wHmb (111) L G’ (11) wHmbd (111) L . Gb
(E) Answer not known

alen Qg flueidena

157. In ——— reflex, if the baby’s foot is stroked, foot twist in.
opleflameanisd @upasulsr urssms asparlu@n Gurg st o 6Ger

CLIGEE]

babinski _ (B) babkin

umSlesrevdl umiidl e
(C) moro (D) walking

ConGrym BenL LU HS)

(E) Answer not known
cflen Qgfwelldena
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158, ———— reflex occurs when a baby is startled by a loud sound or
movement in response to the sound.

R GRHMS R 2755 @6l b mFey apad HH&HHDCUTE —— wHelamen
FHLREDS.
Moro Reflex (B) Darwinian/grasping reflex
CurGyr Lmreleflwen/&ymevie
(C) Rooting Reflex (D) Babkin Reflex
fpL_lg ) umlidles
(E) Answer not known
aflen_ Qzflwellebenew
159. —————— aid the infant in adapting to the environment outside the womb.
Gweil  umeusdle, smelnE GealiCu odear  GbilooCur@ QemkEGuUsSHES,
2 ol flflmg).
(A) Motor skills (B) Cognitive skills
sos QuikigSper | <ifiSIme
'{ Reflexes (D) Sensory abilities
SienflFans QFwe Yeverr 2_ewrirey Smebr
(E) Answer not known
alerL Qg flweiidvena
160. ————— developed the APGAR score.
APGAR semaSl el o meursfwieud
M Dr. Virgina Apgar (B) Dr. William Stewart Agras
Dr. sSrgenmm s - Dr. efeveSlwib eviecumii. &6
(C) Dr. Jean Astruc (D) Dr. Jean Martin Charcot
Dr. giéin siviemé Dr. glen wmi g6 smiGeam
(E) Answer not known
e GgMweildvane
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161. Which of the following statements are true about APGAR scale.
APGAR sjereneuts uph) Qereumid sapmsafles erg) o amento.

(i)

(i1)

(iii)

(A)

(E)

Provides an immediate means of determining infants life saving
measures.

Gwhamssafler 2 ulf srEED BLaysmssmas STomellugpster o Lang e
PepeW QUPEIGHDF).

Good indicator of later neurological or muscular difficulties.

Ghsre Brbklwd (91) sens dmins yssmeansamer saTL Bl Heda cuflsm L.

Score of 5 indicates that infant is in best condition.

5 wduQuer, Ghas Hpbs Haeuld QmULmss GHsHng.

(1) only (B) () and (iii) only

(1) wi_ @b (1) wHmb (1ii) wi Eb
(1) and (i1) only (D) (ii) and (iii) only

(@) woHmb (i) w G ' (ii) wHmd (1ii) vl G
Answer not known

aflenL. Qg flweldenew

162. The age at which rooting reflex becomes integrated is
mHLlg.m flelener @phdeaTasLIBLD auLg)

A)

(E)

DPCD/2022

9 months (B) 12 months

QRETLIG) LDTSBIGET uenaflyeRT(H LMSHIGET
3 months (D) 4 months

QLPEITD) LTS BISET [BITGYT(; LOME Mhl& e

Answer not known
e Qzflwelicvenen
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163. A ————— is an inborn automatic response to a particular form of

stimulation.
AL @@ GHIUNILL euemswner FnamHsaisE @ Wned sraflumnid udd.
Reflex | (B) Exercise
wlelena 2 LM ulpé
(C) Reaction (D) Behaviour
erdlirelllenen BLEMS
(E) Answer not known
eflen Gz flwedeene

164. Which of the following are aims of good Home-School relationship?
Qeeuqmeuanauddled eraneu ¢p(mh Beve, 651 LicTafl 2 pelley CHrésh?
(1) To make parents know about their child’s behaviour.
Gwhmguien pLmsls upd AupCPTHEES AsMuLLGSHIsD

(11) To help teachers in doing their work.
g Aflwisefler Couamasamer QFliw 2 6 se0.

(i11)) To help teachers understand the home background of children.
B ANWTSHEHEE GYhamssaien ait H Weataranfienut g Qarearer 2_gea|geb.

(A) () only (B) (1) and (i11) only
(1) w_Hid (ii) wpmw (1i1) w' G
(1) and (111) only (D) (@) and (i1) only
(D) wpmib (1i1) wC G (i) woHmbd (1) wi G
(E) Answer not known
eflenL Qgflweidwene

165. Exercise for practice theory of play was developed by
elememwimigerr LUHAE Camum iy parer LulHHAemw o (HeursSlwieur wmi?

Karl Groos (B) Freud
&mied Gimei Qlgmd )
(C) Pestalozzi (D) Vygotsky
QuevL_Geomendl ANsm_esvens
(E) Answer not known
eflenL Qg flweiidvana
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166. To make play effective and useful, the following features must be considered.
eflemamuimenL LiwigeTengns wrHm WeTeuHd i bFniIGmeTs SMHSH d Gamerer CouemT(HiLb.
1. Energy and time.
2D HMID CHID
2. Space for play and the knowledge.
sllenarwrGid @L b whmib eflenerwun B udpHlw ey

3. Equipment and materials.
2 USTeRTHRIEET HMILD GlummLger

4. Playmates.

eflenerwim_(H Camperr/Ggm
W 1,2, 3,and 4 B) 1,2and 3
1, 2, 3, vpmwo 4 1, 2 opmd 3
€) 234 D) 1,3,4
2,3,4 1,3, 4
(E) Answer not known
sflenL Qg flwelcrena

- 167. Choose the correct sequence of stages in play development.
eflenemwim (b eueri&sludlen Hlepavaaiieyr sflwmen euflanganws Coib0sHESLD.
(1) Play stage

eflenarwum’_(H Hlepa
(1)) Exploratory stage

<puiay Hlene
(111) Daydream stage

Br_sene] blene
@iv) Toy stage

Qumbenio Flenev

(A) (n), (i1), @) and (iv) B) 1), (1), (v) and (iii)
(i11), (1), (1) wHp> (1v) (i1), (), (iv) wppd> (1)
‘( (11), (v), (1) and (1i1) (D) (i), (1), (iv) and (i1)
(11), (iv), (1) wpyd (iii) (111), @), (iv) wpyd (1)
(E) Answer not known
aflen Qg Mlweferane
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168. The factors that could influence children’s play.
Gwbmssaflen ellanemuim’enL LUTH&@GD sryewiser

1) Socio economic status

gepd QummenTsmy Hlene
(11)  Amount of leisure time
ey Gor Sierey
(1) Self concept
&W &S5
(A) () only \{(i) and (ii) only
(1) wi_Hibd (@) wHmb (1) Lo
(C) () and (ii1) only (D) (i1) and (ii1) only
(@) wpmbd (111) wLHb (11) woyw (iil) wi Hib
(E) Answer not known ' .
eflent. QgMwellvens
169. Increase attention and attachment is ———————— benefits of play.
seuad HHID ubhdlener CobLBSSIeug, ellanerum g6 ———— Lw6TUT(h <G L.
W Social (B) Physical
FUPG 2 e fHlwmer
(C) Emotional (D) Moral
weGleupssl R(P&S
(E) Answer not known
eflenL Qgflweildens

170. The following is which a type of play
EpsartLcupiled erg efleemur () cuenssamend GFibsg ?

Free, spontaneous play (B) Educational play
&gprore senafseans elenerwim’_(H soe elenemwim (b
(C) Formal play (D) Psychological play
wpempwimen eflenemwim (b o areflwe eflenarwimt ()
(E) Answer not known
elenL Qg flweidenay
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171. In active play enjoyment comes from

smsnLILTeT efleneTwmiged @eTuiD erhdl b eumEng?

(A) Watching other children play
wHD GLPHSsET ellanemureuams UmTiiLg,

(B) Looking at comics
sTll&evenw LUTTLLg)

(C) Reading books
L&SoD eunfl g6

% Physical activity or constructing something

TMSWTEUG @QUISEGSD (<21) SLL LSS

(E) Answer not known
ellenL_ Gsflwelwenay

172. Montessori replaced the word “teacher” by the word
wrerLef ‘oM’ erenn urigamsemw eThs aygum) wrHOlesmT?

(A) Formator Directress
Ll pAwimerr Quis@ert

(C) Counsellor (D) Co-ordinator
%Coomgsm R(HBISlenemTLILITeTT

(E) Answer not known
cllenL Qg flwelcena
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173. Choose the right matches among type.
umas@ Qe Gu sflumer Qumrpsstisamer GCaime ClFlwea|b.

1.  Froebel —  Non-use of play materials
AN i ATHT) - elearwn(® Qurmlseaner LWTLOSSTSS
2. Montessori — Importance to motor and physical
development
ey Gl - Qués wpmib 2 L eueTiFSluflen WpESlwuiSgieud
3. Tagore —  Subject centered
S&al - LITLAD ETTHSSI
4. Mahathma Gandhi —  Nai-talim
DETSOT STHS) - b gTedld
(A) 1 and 3 are correct 2 and 4 are correct
1 wpmid 3 & : * 2 wpmid 4 &
(C) 2 and 3 are correct (D) 3 and 4 are correct
2 wHMILDd 3 & 3 wHmid 4 &l
(E) Answer not known
allenL QgMwellebene
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174. The medium of instruction is usually the regional language in which kind of
preschool.
u@hmeREEn GQomd Qurgieuns erhg cuamswrer Lmei Ldtaflsatied pmhSlw Gomg.
(1)  Nursery School
Birgf uetefl
(i1) Balwadi
LITGOGUIg-
(111) Laboratory Nursery School
s Brgfl uererfl

(iv) Montessori School
wrer_GCafl Leref

(A) (1) only (B) (i) and (i11) only
(1) oL @ ’ ’ (1) wHmb (1ii) i G
" (ii) only D) (i) and (iv) only
(11) w @b (11) wHmw (Iv) L b
(E) Answer not known
sllenL Qgflwuelcrensy
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175. Assertion [A] : ECCE has assumed little significance in the National
Policy on Education.

aualluymisse [A] : Gaflws swells Gamaransler ECCE Aflw wpsdwsgsieusmsi
QupmeTeng).

Reason [R] : ECCE has received high priority and has been properly
integrated with the ICDS programme.

sryewntid [R] : ECCE wifls @weagfamwveawuls Qupmerersg wpmw ICDS

Blyevsenien #flums @aemssiul_(HeTeng.

(A) [A] i1s true but [R] 1s false
[A] &M semmed [R] geumy

(B) Both [A] and [R] are true and [R] is the correct explanation of [A]
[A] whmbd [R] @rearGiw 2amenw [R] eraruig [A] @en sflwurar edergsin

K [A] 1s false, [R] 1s true . :

[A] saug [R] &l

(D) Both [A] and [R] are true, but [R] is not the correct explanation of [A]
[A] wppp [R] @rewm@®n e awenw, e [R] eraug [A] @en sflwnean efengsin
Qe

(E) Answer not known
eflenL. Qgflwueleene
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176. Early childhood education is the learning experience provided to children of
ages.
< TDL GHMS LHeU &6l 6Ths eULgIS@L UL L GLObBaSSEhé@E euphisliu@BEng?
) 6 — 12 years
6 — 12 yar(hHaar
(1) 2-6years
2 — 6 yar@Hser
(1) 4 — 8 years
4 — 8 yam@psern
(av) 2-10years
2 — 10 oy@m@sar

A @only . (B) (1) and (111) only
(1) w_ @b (1) wHmd (111) L Hb
(11) only (D) (v) and () only
(11) o’ @b (1v) wpybd (1) W
(E) Answer not known
ellen Qg flwelidena

177. According to new education policy 2020, schooling begins with the inclusion of

ECCE from age

LW sells Qamerans 20206 Lilg., —————— cuwdld @mbs ECCEg o drar_s8w uerels
seel QgTLBGH DI

A 5 (B) 4

" 3 (D) 2

(E) Answer not known
allenL Qg flwedcrene
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178. ——— is not one of the objectives of early childhood education as
described by education commaission (1964-66).
GCaflu < erartid 1964-66 ufigienrss < TbUSSTD GYHmSL LHe soellufer Crréssdd
2 ararL mSuSoe.
(A) Develop emotional maturity
weartleupssl wpdisd Cubump
(B) Stimulate intellectual curiosity
DSBS 2 TUSMNS SHNEHTL 0
(C) Encourage independence and creativity
sSHETD LHYID HYbssSlpaman sas@ellszd
' J Develop scientific attitude

DN - DT ILITETEN O CUEITTESE)

(E) Answer not known
aflen Qgflwelldvena

179. The body which is responsible for formulating policy and implementing
programs for the prevention and control of HIV in India is
@rHureler ar&.g.68 sOLUY wHMD SLELUUTLHESTE CETATMSESEMmET 2 (HeuTsHEGaSDEW
L uganer QewLBSgeugsHEn GurmiLimeT ey

(A)  AIMS (B) RUSA
NACO (D) ICSSR
(E) Answer not known
eflenL. GgMwelldvena
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180. Assertion [A] : A pregnant woman infected with AIDS always passes the

AIDS antibodies to the foetus.

aulluymnssd [A] : ewlay Gprumed urddstulL siubeill Ques erliQuUmgID
GG D4,ERTIq LITIG SENET &(THEHE; et 1L mmT.

Reason [R] :  All staff members in ECCE programmes need to be aware
of the facts and issues surrounding AIDS and its
transmission.

sryenrd [R] : ECCE A Lnisafled 2 erer Syemansg eafluis@ps@Eh eriil 6 HHLD

(A)
(B)
©

o

(E)

Qg6 Ugeuemed SFHMujeTer o aTenwseT WHMID HEsO&EET GDSS
2N BH mES CouarBHib.

[A] 1s true but [R] is false

[A] &M <yemed [R] seumy

Both [A]' and [R] are true and [R] 1s the correct explanation of [A]

[A] wpmib [R] @rar@®in 2 areno [R] eremugy [A]@en sflwner elengsid

[A] is false, [R] is true

[A] seug [R] &

Both [A] and [R] are true, but [R] is not the correct explanation of [A]

[A] wop [R] @ranmn e, e [R] eaug [Al@er sfluner eferssid

@eme

Answer not known

eflen Qzflweidena

181. Digital generation ; our generation was the theme of the
‘CTRISET SEWLPED 14 L6 FOWVWP®D GTRTLIG! THET &(HLIQUTmET

@)
(B)
v

D)

(E)

DPCD/2022

International Autism Day 2022
sieuGges oy, 1gF prer 2022

International Down Syndrome Day 2022
&ieuGge Layen Hem Cpmd pmer 2022
International Girl Child Day 2021
sieuGge CQua GLbamssdr Semb 2021
International Hearihg Day 2022

siauGga ang GCal @b SHand 2022

Answer not known
adlen_ Gsflweldeme
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182. Which is not the enrichment programme for gifted children?
Wesreumeuareupdled 678 S/ Smepbwinren GHanssEhssTear dahapl L e SHiL b @aeame
(A) Enrichment of curriculum
UL gL seng Gapenliu(BSSIFe
(B) Grade acceleration
87 WH &S
(C) Arrangement of special classes
Spliy eugliLser erpum(
J Special residential school
Spliy 2 epell s verefl

(E) Answer not known
sllenL Ggflwelldene

183. ————————1is a form of sexual exploitation of children.
erenug) Linedlan FHWING GLHENSHEMET FITLMISSHID (1 eUlg.aUD DpGLD.
(A) Nurture the children emotionally
wear@euss fHuwns @Gwpamgsamer Guent eueTTLg)
(B) Clicking photographs of children
GLPHBMSHEET LIen&SUILIL LD eT(HLILG
(C) Nurture the children physically
2 L& fHlwing Gbamsamers Cuenfl eueriiiLg)
{ Clicking indecent photographs of children

SIBTEIHLNS GHaSHEMmeT gL LD T(HLUIUg]

(E) Answer not known
cllenL Qgflweiicvenen
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184. Juvenile delinquency is the involvement of a kid who is between the age of
in 1llegal activity of behaviour.

@emb @ooeuraflser eremiLeug, —— QUWGSEE @oLUullL GRHMSSET FLUL
Gz omear QeweiCar (1) BLiamgsuiCar FHLHUSTGLD.
& 10 and 17 (B) 9and 15
10 wpmo 17 9 wHmitd 15
(C) 9and16 (D) 10 and 18
9 wHmib 16 10 womib 18
(E) Answer not known
eflenL Qg flwelecrene

.185. Children committing a crime below 18 years are termed as ]
GonE Gewdsefler mRHuBD 18  awgsEE 2 LulL GRHMSEET  eTeUEUT)

SmP&sIUHElTmETT,

(A)  Gifted (B) Savant children
BsHmert 2_crem GbSHET DleeTer @G LpHemS ST

(C) Exceptional children {;‘wenile Delinquent
edglelevssrer GLbamgaer @emd GHmeunafl

(E) Answer not known
eflenL Qg flueidena
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186. Assertion [A] : Juvenile Delinquents have been locked upon differently by
persons.
aweluymsse [A] : Apri gHoeunelsdr wéserre sHwrswns LTTssLILOEDTISET
Reason [R] :  Economic insecurity, under nourishment, inadequate
clothing and lack of necessary medicare may lead to
delinquency.
sryanrid [R] i Qurertsry ungisminQeneno, Curagnsdlearemw, CurHw o L ser
wHnd Ceveuwner w@mEGGHed ugmoflliy @deomamn  yHueme
GDPEEDEG eufleuEEGL.
(A) [A] is true but [R] is false
[A] e @wmenw spemmed [R] geupreng
(B) Both [A] and [R] are true and [R] is the correct explanation of [A]
[A] wpmd [R] @rem®b o amenis Cogid [R] eramug [A]@en sflwnen eferssid
(C) [A]is false, [R] is true
[A] seupreng [R] 2 awrenwo
M Both [A] and [R] are true, but [R] is not the correct explanation of [A]
[A] wpmb [R] @ran@n e arew, e [R] eemug [A]@er sfwrer eflengsid
@éene
(E) Answer not known
ellen Qg flwelidvenay
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187. According to “UNICEF”, boys and girls, aged under 18 yrs, for whom the
street has become home and their source of livelihood, are inadequately
protected or supervised are called
UNICEF & spmuug, eoiflsmer eumpellwmseyb, eumpeungnyorseyn Gasmeme
18 awgs@lulL, CGungorer urgsTiy bODL sSwarailly Quprs GRHmsseT

GTEIM SHEMLP&SHILI(HGUT.
(A) children growing up in poverty
Fpenbulled eUET(HLD GLHENSSHET
N~ street children
QgmGourys @GHamsaHer
(C) abused child
SeudlePPESILILL GLHNSSHET
(D) deprived children
Brrsflésliul L @whangser

(E) Answer not known
ellen Qg flweidena

-188. Children with unusual aptitude in specific scholastic areas
GO L soeflllue ugdaaie siETsmraT Sner QaTaTL GLPBMSSHET

(A) Hearing impaired (B) Visually impaired
&g Caenrgealiser umrenal GeoUT(H 2. enLIIGUT&ET
W Gifted children (D) Locomotor disabled
SoeOLWNET GLHSEH6T 2 L) earan(pHmeut
(E) Answer not known
aflenL Qg flwelcrena

189. Gifted children work well

BsHmer 168 @GLHamsser penms ————— Ceauame Qalieuriger.
Independently (B) Unitedly
seflwuns QeTHlenaRTHS)

(C) Cooperatively (D) Peacefully
gl (Hpeurs SenHwuns

(E) Answer not known
cllenL Qg flwelcens
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190. Match the following :

QummssIs :
Category Legal Term
UMS gl ffwrer Quwir

(a) Blind 1. Mental Health Disability
G(mLIT OETHE GEDUT(H

(b) Dumb 2.  Physical Disability
DEIEHLD 2 | 6 2EIEILD

(¢) Lame 3.  Visual Impairment
QB ety urieneu Gamarmmy

(d) Insane 4. Communication Disability
UGS WLSSTeT _ Qgmuiy gepun®

@ ® © @
A _ 1 2 3
w3 4 2
< 4 3 2
D) 2 3 1
(E) Answer not known
sflenL Qg flweiidene

QRIS

191. Born weak or floppy, a sign of which disability
n&@ b CurGs gms QnisswHn Hlane - 6THS aUMS 2aETLD

(A) Mental retardation (B) Blindness
L& euaTTES] @ennum(h ST LIMTEN6L (& D6y
M Cerebral palsy (D) Deafness
EPENET (PL_&@GH6UTSHLD &gl Caarmento
(E) Answer not known
sflenL Qg flweddeney
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192. Duchenne muscular dystrophy is caused by
hGager seng Bt fenge| Yemel(pbd sTramTEISeTTD JHURE D).

(A) Pencillin reaction A genetic mutation
Quenglelen erdliallenen (1 LILIGH LTHDHLD
(C) A fungus (D) A virus
R LEehos R @aeureD
(E) Answer not known
cllenL Gz flweiidenay

193. These children have high level of intelligence and divergent thinkers.
ThS GLHmS&HET s LSHaTelgsand whmib wrpul L Hpsamers CsTerT_euigEer

Gifted . (B) Special

BsSpen Gpeogsad Aplins Ghemgsse
(C) Autism (D) ADHD

<L 1q LD ADHD @ypeasser

(E) Answer not known
cflenL Qgflwelcensy

194. The definitions of 21 disabilities in India is enshrined in

21 @epun@sdr (disabilities) o dreng erein uepwepenw @pHuneler eTHsEF FL b

UEIGHDSI?
(A) Persons with Disability Act 1995
wrpnsd Hperraflser L - 1995
(B) National Trust Act 1999
Calw 2m&sLLener #Lib - 1999
(C) Mental Health Act 2017

& Beo FLib - 2017

M Rights of Persons with Disability Act 2016

wrpul L Spareflseaticr o fenw gL b - 2016

(E) Answer not known
aflenL Qg flwelterenev
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195. Assertion [A] : Language 1is a tool for driving prejudice and
discrimination.

auelumgze [A] : Qumf ereg sLGQUGTaNS®mS HNL LTGUTL®L oéEGSHSTRT Q@

' &(medl.
Reason [R] :  Persons with disabilities are labelled to emphasize that
they are different.
smyenrd [R] : omppdnermellsdr  csHwrsoraeisar  a@L®S  WUNSS
Quuifi_uul_@érerei.

(A) [A] 1s true but [R] is false

[A] 2_amend [R] o @renoufereney
(B) Both [A] and [R] are true and [R] is the correct explanation of [A]
[Al wpmid [R] @rmivr@d)' 2 grenw wpmibd [R] aTeLg) [A]l@en sflwrar elangsid
(C) [A] is false [R] is true ’
[A] seumy [R] 2_aiorenio
6 Both [A] and [R] are true, but [R] is not the correct explanation of [A]
[A] womw [R] @Qrem@n o amew, yame [R] eemwg [Al@en sfwner sderésind

VL

(E) Answer not known
eflen Qgflweiidenay

196. A condition where a person has visual acuity less than 8/60 in the better eye
with best possible correction is

i sar HmsssHDEL D@D e pufler LmTmeus safmw 3/60&@0 GampauTs QMHEELD
RO Hlaw
(A) Low vision
G uriene (low vision)
(B) Visual impairment
umireneu Gasmermy (visual impairment)

( Blindness

urrereus Gevpun(® (blindness)

(D) Total Blindness
ppewwiren uniene Gepur@® (total blindness)

(E) Answer not known
eflenL Qgflweldoene
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197. Autism spectrum disorder is the kind of

%

L 1g &D CETETTM GTemTLIg) ———6 QUSWLITGLD.

Developmental disability
eueni&dl @enpun(h

Multiple disability

LIGOEUENSHWITET (e LIT(h

©

Answer not known
elen Qzflwedidenay

(E)

198.

(B) Physical disability
o L& fTflwnen @eppur®
(D) Learning disability
SODe Geopur(y

Choose the right matches among the causes of disabilities.

Queremwssrear sramsaildy sfurar QuTBSshiIsmar CoThESHESaD.

1. - Hearing Impairment -
QeeilsSHmer Genmur( -
2. Visual impairment —
LITTeneus @Genmui(h -
3. Intellectual disability -
Sidlesri @uie T -
4. Orthopaedic impairment —
aTbLlwed Genpurh -
(A) 1 and 2 are correct
1 wpmibd 2 &fl
(C) 2 and 3 are correct

2 wHmibd 3 &

Answer not known
sflenL QgHweildene

(E)

DPCD/2022

Prolonged exposure to loud noise
Bam Gpybd <ifls s5568DE oL LOse
Amputation and Fracture

2a1aid HYID Tudy (pdley

Rh incompatibility

Rh Qunmssfeneno

Congenital ophthalmologic syndrome
9pell segr HSGHIeL CHmUSEMH
ﬂand 3 are correct
1 wpmid 3 Fifl

(D) 3 and 4 are correct
3 wHmib 4 s
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199. Assertion [A] : Disabled people can never have a good quality of life.
adlynsse [A] 1 wrdns HnarTaflGeT m HO® STOTET QUTPEMS GUTLY (PIGLITE.
Reason [R] :  The quality of life depends mainly on the personality of a

person and society’s acceptance of the person.
sryenid [R] D umpémss ST WSEWTET (M BUNET @R WHMID FPSD
2B BT OIS GareTeuenss QUIMISSS.
4 [A] is false but [R] is true
[A] aum [R] &f
(B) Both [A] and [R] are true; and [R] is the correct explanation of [A]
[A] wpmd [R] Qraer@b &M, [R] [Alew sflwmen eferssid
(C) [A]is true but [R] is false
[A] sl [R] soum : : :
(D) Both [A] and [R] are true, but [R] is not the correct explanation of [A]
[A] wpmbd [R] @rar@ibd &M, [R] [A] e efluinear efendaid e

(E) Answer not known
eflenL Gz flweildveney
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200. Match the following :

QumTEEI5.
(a) Slow learners 1. 1IQ between 20-34
Qugleuns sHueuTEeT 1Q 20-34 Qe Cw
(b) Mildly retarded 2. 1Q between 39-45
Govgrar 19 enaTent_ay IQ 39-45 Qe Gw
(¢) Moderately retarded 3. 1Q between 50-70
WgLorer Qenenent ey IQ 50-70 Qev Gw
(d) Severely retarded 4. 1Q above 70
sHerwiner GeTanenL_6| 1Q 704@ Gua
@ b © @
A 1 4 3 2
B) 2 4 1 3
4 3 2 1
D) 3 4 2 1
(E) Answer not known
cllen QgRMwelidana
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